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Q.1 Ifthe length of a line measured with a 20 meter chain was found to be 290 meter, then what will be the true length of
the line if the chain was 6 cm too long?

Ans X1 288.87 m
2. 290.87 m
X3 291.67Tm
X 4 289.67m

Question Type : MCQ
Question ID : 630680507924
Option 11D : 6306801984996
Option 2 ID : 6306801984993
Option 31D : 6306801984995
Option 4 ID : 6306801984994
Status : Answered
Chosen Option : 2
Marks : 2




Q.2 71p the context of purification of water, which of the following is a type of filter?
I. Slow sand filter
II. Rapid sand filter

Ans X1 Only I
X 2 OnlyII

« 3 BothIandII
X 4. Weither I nor IT

Question Type : MCQ
Question ID : 630680507967
Option 11D : 6306801985165
Option 2 ID : 6306801985166
Option 31D : 6306801985167
Option 4 ID : 6306801985168
Status : Answered
Chosen Option : 3
Marks : 2

@3 Which of the following is purpose of reference earthing?
Ans o 1.
To provide a reference zero potential in the conductor circuit

X 2. To discharge surge voltage

X 3. To hold non-current carrying metallic parts at zero potential

x 4.
To discharge capacitive current charge through earth switch to earth

Question Type : MCQ
Question ID : 630680507956
Option 11D : 6306801985122
Option 2 ID : 6306801985124
Option 3 ID : 6306801985123
Option 4 ID : 6306801985121
Status : Answered
Chosen Option : 2
Marks : 0




Q4 In the context of carpentry tool, which of the following is a type of planes?
I Jack plane

II. Beading plane

Ans 1 BothIandII
X 2. Neither I nor II

X3 OnlyI
X 4 Only I
Question Type : MCQ
Question ID : 630680507949
Option 11D : 6306801985095
Option 2 ID : 6306801985096
Option 31D : 6306801985093
Option 4 ID : 6306801985094
Status : Answered
Chosen Option : 1
Marks : 2
Q.5 Which of the following statement is correct regarding earthing?
1. Earthing associated with non-current carrying parts of electrical equipment is called equipment earthing
II. System earthing is a classification of earthing
Ans 1. BothIandII
X 2 OnlyI
# 3. Neither I nor IT
X 4 OnlyII
Question Type : MCQ
Question ID : 630680507959
Option 11D : 6306801985135
Option 2 ID : 6306801985133
Option 31D : 6306801985136
Option 4 ID : 6306801985134
Status : Answered
Chosen Option : 1
Marks : 2




Q6 Which of the following material is used in conduit wiring?

I. GI (Galvanised Iron) wire
II. Lock nut

IIT. Junction box
Ans % 1. Only I and II

X 2. Only II and III
« 3. I, IT and III
X 4. Only I and IIT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option3ID:
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680507958
6306801985129
6306801985130
6306801985132
6306801985131
Answered

3

2

Q.7 Inthe context of chain type in survey, the revenue chain is

Ans X 1. 66 ft, 18
« 2 33ft, 16
X 3. 66 ft, 16
X 4. 33 ft, 99

long and consist of

links

Question Type :
Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MCQ
630680507921
6306801984982
6306801984984
6306801984981
6306801984983
Answered

2

2




Q.8

In which of the following field, CAD is useful?
I. Communication industry
II. Civil industry

III. Aerospace industry

Ans % 1. Only II and III
X 2 OnlyTandII
X 3. Only I and III
« 4 I, 1T and III
Question Type : MCQ
Question ID : 630680507902
Option 11D : 6306801984906
Option 2 ID : 6306801984905
Option 3 ID : 6306801984907
Option 4 1D : 6306801984908
Status : Answered
Chosen Option : 1
Marks : 0
Q9 Which of the following foundation is also known as mat foundation?
Ans X 1. Well foundation
« 2. Raft foundation
X 3. Grillage foundation
X 4. Pile foundation
Question Type : MCQ
Question ID : 630680507912
Option 11D : 6306801984946
Option 2 ID : 6306801984945
Option 3 ID : 6306801984947
Option 4 ID : 6306801984948
Status : Answered
Chosen Option : 2
Marks : 2




Q.10 Which type of valve is shown in the given figure, which is used in plumbing?

Ans

X 1. Ferrule

« 2. Parallel slide valve
X 3. Air valve

X 4. Angle valve

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680507965
6306801985159
6306801985157
6306801985160
6306801985158
Answered

1

0

Q@11 Which of the following is NOT a type of paints?

Ans

X 1. Bituminous paints
X 2. Anti-corrosive paints
X 3. Aluminum paints

« 4. Magnesium paints

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

MCQ
630680507914
6306801984956
6306801984954
6306801984953
6306801984955
Answered

4

2




Q12 wwhich of the following term is NOT related with defects in timber?
Ans % 1. Rindgall

X 2. Cup shake

X 3. Upset

« 4 Bark

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680507898
6306801984890
6306801984891
6306801984889
6306801984892
Answered

3

0

Q13 The crushing strength of second class brick should not be less than
At X1 10.0 N/mm?

%2 20,0 N/mm?

X3 40.0 N/mm?

¢ 4 7.0 N/mm?

Question ID
Option 11D
Option 2 ID
Option 3 ID

Status
Chosen Option
Marks

Question Type :
: 630680507905

: 6306801984918
: 6306801984920
: 6306801984919
Option 41D :

McQ

6306801984917

: Answered
14
12




Q14 Which of the following statement is correct regarding ‘chain in survey*?

Ans

I. Gunter’s chain is also known as surveyor’s chain

II. Engineer’s chain is 100 ft long and consists of 100 links

X 1. OnlyI
+ 2. Both T and II
< 3. Neither I nor IT
X 4 OnlyII
Question Type : MCQ
Question ID : 630680507922
Option 1 ID : 6306801984985
Option 2 ID : 6306801984987
Option 3 ID : 6306801984988
Option 4 ID : 6306801984986
Status : Answered
Chosen Option : 2
Marks : 2
Q.15 In the context of coordinate system in AutoCAD, given figure denotes which type
of co-ordinate system?
(0,0)
Ans X 1. Direct distance entry
X 2. Relative coordinate system
X 3. Polar coordinate system
« 4. Absolute coordinate system
Question Type : MCQ
Question ID : 630680507903
Option 11D : 6306801984912
Option 2 ID : 6306801984909
Option 3 ID : 6306801984911
Option 4 ID : 6306801984910
Status : Answered
Chosen Option : 2
Marks : 0




Q.16 In the context of auto CAD, which of the following command is used to edit a polyline?

Ans X 1. Hatch command
+ 2. PEDIT command
X 3. ARC command
< 4. DDEDIT command
Question Type : MCQ
Question ID : 630680507901
Option 11D : 6306801984902
Option 2 ID : 6306801984901
Option 3 ID : 6306801984904
Option 4 ID : 6306801984903
Status : Answered
Chosen Option : 2
Marks : 2
Q.17 are the lines which are run in the field to check the accuracy of the work in surveying.
Ans X' 1. Tie lines
« 2. Check lines
X 3. Base lines
X 4. Main lines
Question Type : MCQ
Question ID : 630680507926
Option 1 ID : 6306801985002
Option 2 ID : 6306801985001
Option 3 ID : 6306801985003
Option 4 ID : 6306801985004
Status : Answered
Chosen Option : 2
Marks : 2
Q.18 In plane table surveying, the table is centered over the station accurately with the help of a
Ans X 1. alidade
X 2. magnetic compass
+ 3. U frame
X 4. spirit level
Question Type : MCQ
Question ID : 630680507934
Option 1 ID : 6306801985033
Option 2 ID : 6306801985036
Option 31D : 6306801985035
Option 41D : 6306801985034
Status : Answered
Chosen Option : 3
Marks : 2




Q.19 A is made of varnished strip of water proof linen interwoven with small brass. copper or bronze wires.

Ans 1. metallic tape
X 2. invar tape
X 3. steel tape
X 4. linen tape
Question Type : MCQ
Question ID : 630680507923
Option 1 ID : 6306801984991
Option 2 ID : 6306801984992
Option 3 1D : 6306801984990
Option 4 ID : 6306801984989
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 is the process of cutting a rectangular groove along the edge of a member.
Ans X 1. Studding
X 2. Veneering
« 3. Rebating
X 4. Mitring
Question Type : MCQ
Question ID : 630680507945
Option 1 1D : 6306801985079
Option 2 ID : 6306801985080
Option 3 ID : 6306801985077
Option 4 ID : 6306801985078
Status : Answered
Chosen Option : 3
Marks : 2




Q.21

Which type of ventilator is shown in the given figure?

Ans X 1. Centre hung ventilator
X 2. Fix hung ventilator
X 3. Bottom hung ventilator
« 4. Top hung ventilator
Question Type : MCQ
Question ID : 630680507955
Option 11D : 6306801985119
Option 2 ID : 6306801985120
Option 31D : 6306801985118
Option 4 ID : 6306801985117
Status : Answered
Chosen Option : 4
Marks : 2
Q.22 Which of the following statement is correct regarding pile foundation?
I. Compaction piles is the type of piles foundation
II. When piles are driven at an inclination to resist large horizontal or inclines force the piles are termed as friction piles
Ans @1 Only I
X 2. Neither I nor II
X3 OnlyII
X 4 BothIandII
Question Type : MCQ
Question ID : 630680507909
Option 1 ID : 6306801984933
Option 2 ID : 6306801984936
Option 31D : 6306801984934
Option 4 ID : 6306801984935
Status : Answered
Chosen Option : 4
Marks : 0




Q.23 [n the context of carpentry joint, which type of joint is shown in the given figure?

=}
I
Ans X 1. Mitre joints
« 2. Splice joints
X 3. Halved joints
X 4. Tenon joints
Question Type : MCQ
Question ID : 630680507950
Option 1 ID : 6306801985098
Option 2 ID : 6306801985099
Option 3 ID : 6306801985097
Option 4 ID : 6306801985100
Status : Answered
Chosen Option : 2
Marks : 2
Q24 wWhich type of door is shown in the given figure?
+ Top Rail
+ Muntin
75 | Panel
e
| 100 + Frieze Rail
o—— Stle
— * +— Frame
< Lock Rail
: Bottom Rail
Ans % 1. Wire gauge shutter
X 2. Glazed door
< 3. Battened door
+ 4 Panelled door
Question Type : MCQ
Question ID : 630680507953
Option 1 ID : 6306801985111
Option 2 ID : 6306801985110
Option 31D : 6306801985112
Option 4 ID : 6306801985109
Status : Answered
Chosen Option : 4
Marks : 2




Q25 Which of the following is indirect method of contouring?

I. Square method
II. Tacheometric method

III. Cross section method

Ans % 1. Only II and III
« 2 I, II and III
X 3 OnlyIandII
X 4. Only I and IIT
Question Type : MCQ
Question ID : 630680507940
Option 11D : 6306801985058
Option 2 1D : 6306801985060
Option 3 ID : 6306801985057
Option 4 ID : 6306801985059
Status : Answered
Chosen Option : 2
Marks : 2
Q26 wWhich of the following are constituents of an oil paint?
L. Drier
II. Solvent
III. Extender
Ans % 1. Only I and II
« 2. I, IT and III
X 3. Only II and III
X 4. Only I and IIT
Question Type : MCQ
Question ID : 630680507913
Option 11D : 6306801984949
Option 2 ID : 6306801984952
Option 3 ID : 6306801984950
Option 4 ID : 6306801984951
Status : Answered
Chosen Option : 2
Marks : 2




Q27 Which of the following is correct regarding fundamental lines in theodolite?

Ans

I Line of collimation and altitude level axis are parallel to each other

II. The axis of the telescope level is parallel to the line of sight
« 1. Both T and II

< 2. Neither I nor I

X 3 OnlyI

X 4 Only I

Question Type :
: 630680507943

: 6306801985071
: 6306801985072
Option 31D :

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

MCQ

6306801985069

: 6306801985070

: Answered

Chosen Option :
Marks :

1
2

Q28 Which of the following is NOT the use of contour plan?

Ans

X 1. Determination of intervisibility between two point
X 2. Calculation of reservoir capacity
« 3. To find out reduced level (R.L) of ground station

X 4. Tracing of contour gradient and location of route

Question Type :
Question ID :
Option 11D :

Option 2 ID :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

MCQ
630680507939
6306801985053
6306801985055
6306801985056
6306801985054
Answered

3

2




Q.29 In the context of preservation of timber, which of the following is an example of water soluble preservatives?

Ans 1. Zinc chloride
& 2. Benzene-hexa-chloride
X 3. Dichlorodipheny! trichloro-ethane

X 4. Pentachlorophenol

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680507897
6306801984885
6306801984887
6306801984888
6306801984886
Answered

1

2

Q.30 are made of clay, and are primarily used in sewerage system for underground drainage, industrial drainage,

irrigation, chemical industry for transporting the highly corrosive chemical.

Ans X 1. PVC pipes
X 2. GI pipes
X 3. Copper pipes
« 4 SW pipes

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507963
6306801985150
6306801985152
6306801985151
6306801985149
Answered

4

2




Q31 Which of the following statement is correct regarding joint in carpentry work?

I. Notching joint is provided at the junction of two member meeting at right angle

II. Housed joint is type of a bearing joints

Ans 1. BothIand II
X 2 OnlyII
& 3. Neither I nor II
X 4. Only1

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680507951
6306801985103
6306801985102
6306801985104
6306801985101
Answered

1

2

Q.32 Which of the following ingredient in brick enables the brick to retain its shape, impacts durability, and prevents

shrinkage and warping?
Ans X 1. Alumina
+ 2. Silica
X 3. Magnesia
X 4. Tron

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507907
6306801984928
6306801984925
6306801984927
6306801984926
Answered

2

2




Q.33 Which of the following is NOT the property of material, which is used for damp proofing course?

Ans 1. The material should be perfectly pervious
~ 2
The material should be flexible so that it can accommodate the structural movement without any fracture
~< 3.
The material should be durable and should have the same life as that of the building
~ 4
The material should be such that leak-proof jointing is possible
Question Type : MCQ
Question ID : 630680507918
Option 11D : 6306801984969
Option 2 ID : 6306801984971
Option 31D : 6306801984972
Option 4 ID : 6306801984970
Status : Answered
Chosen Option : 2
Marks : 0
Q34 Block boards (IS : 1659), is also known as
Ans 1. solid core plywood
X 2. fire proof board
X 3. particle board
X 4. medium density fire board
Question Type : MCQ
Question ID : 630680507900
Option 1 1D : 6306801984898
Option 2 ID : 6306801984897
Option 3 ID : 6306801984900
Option 4 ID : 6306801984899
Status : Answered
Chosen Option : 2
Marks : 0




Q.35 1In the context of carpentry tool, which type of plane is shown in the given figure?

Ans

X 1. Beading plane
« 2. Jack plane

X 3. Rebate plane
X 4. Plough plane

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

MCQ
630680507968
6306801985172
6306801985169
6306801985170
6306801985171

2
2

Q.36 Ifreduced bearing of a line AB is NOE, then whole circle bearing of a line AB lies between
Ans  X1.180° and 270°

X 2. 270° and 360°

< 3. 90° and 180°

« 4 0° and 90°

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCcQ
630680507931
6306801985023
6306801985024
6306801985022
6306801985021
Answered

4

2




Q.37

Ans

is semi-rigid material, which is quite durable and completely impervious.

X 1. Asphaltic felts

X 2. Metal sheets
« 3. Mastic asphalt

X 4. Mortar

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680507919
6306801984973
6306801984975
6306801984976
6306801984974
Answered

2

0

Q38 The process of taking the shaving of wooden member is called

Ans

X 1. seasoning
X 2. veneering
« 3. planning

X 4. scribing

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status

MCQ
630680507946
6306801985083
6306801985084
6306801985081
6306801985082

: Answered
Chosen Option :
Marks :

4
0




Q.39 Which of the following is NOT a marking and measuring tools in carpentry work?

Ans

I. Carpenter’s vice

II. Mortise gauge
X 1. Only I
2 OnlyI

/A 3 BothIandII
X 4. Neither I nor II

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680507947
6306801985086
6306801985085
6306801985087
6306801985088
Answered

4

0

Q.40 In context of different types of valves used in plumbing, which of the following valve is also known as check valve?

Ans

X 1. Globe valve
X 2. Gate valve
X 3. Angle valve

+ 4. Foot valve

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680507964
6306801985155
6306801985156
6306801985154
6306801985153
Answered

2

0




Q.41

What is name of plumbing tool, shown in the given figure?

Ans 1. Pipe vice
X 2. Water-pump pliers
X 3. Wrenches
X 4. Bench vice
Question Type : MCQ
Question ID : 630680507961
Option 1 ID : 6306801985142
Option 2 ID : 6306801985144
Option 3 ID : 6306801985143
Option 4 ID : 6306801985141
Status : Answered
Chosen Option : 1
Marks : 2
Q42 1p building drawing, continuous thin line can be used as
I. Dimension lines
II. Center lines
Ans X' 1. Both I and IT
X 2. Neither I nor IT
3 OnlyI
X 4 OnlyII
Question Type : MCQ
Question ID : 630680507895
Option 1 ID : 6306801984879
Option 2 ID : 6306801984880
Option 3 ID : 6306801984877
Option 4 ID : 6306801984878
Status : Answered
Chosen Option : 3
Marks : 2




Q43 A

is a combination of an electronic theodolite and an electronic distance meter.

Ans 1. total station
X 2. geodimeter
X 3. auto level
X 4. dumpy level
Question Type : MCQ
Question ID : 630680507941
Option 11D : 6306801985062
Option 2 ID : 6306801985064
Option 3 ID : 6306801985061
Option 4 ID : 6306801985063
Status : Answered
Chosen Option : 1
Marks : 2
Q44 \What is the name of surveying instrument shown in the given figure?
St ]
v
Ans

X 1. Optical square
« 2. Plumbing fork

X 3. Alidade
X 4. Trough compass

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

MCQ
630680507933
6306801985032
6306801985030
6306801985031
6306801985029

2
2




Q.45 A figure is given below of a window frame, which of the following option represents the part numbered as *1°?

0]
—
Ans X1 Middle rail
X 2. Horn
X 3. Lock rail
« 4 Jamb
Question Type : MCQ
Question ID : 630680507954
Option 1 ID : 6306801985115
Option 2 ID : 6306801985113
Option 31D : 6306801985116
Option 4 ID : 6306801985114
Status : Answered
Chosen Option : 3
Marks : 0
Q46 Which of the following is a type of varnish?
I. Asphalt varnish
II. Spirit varnish
Ans X 1. Neither I nor II
X 2 OnlyI
+ 3. BothIandII
X4 Only I
Question Type : MCQ
Question ID : 630680507915
Option 1 ID : 6306801984960
Option 2 ID : 6306801984957
Option 3 ID : 6306801984959
Option 41D : 6306801984958
Status : Answered
Chosen Option: 3
Marks : 2




Q.47

is used to make multiple copies of an object in a rectangular or polar fashion, in AutoCAD.

Ans X 1. OFFSET command
X 2. ERASE comumand
+ 3. ARRAY command
X 4. MIRROR. command
Question Type : MCQ
Question ID : 630680507904
Option 11D : 6306801984913
Option 2 ID : 6306801984914
Option 3 ID : 6306801984915
Option 4 ID : 6306801984916
Status : Answered
Chosen Option : 4
Marks : 0
Q48 wWhich of the following is NOT the purpose of foundation?
I. To provide a level surface for building operations
II. To decrease the structure stability and allow over turning
Ans X1 BothIand II
X 2 OnlyI
X 3. Neither I nor II
« 4. Only I
Question Type : MCQ
Question ID : 630680507910
Option 11D : 6306801984939
Option 2 ID : 6306801984937
Option 3 ID : 6306801984940
Option 4 ID : 6306801984938
Status : Answered
Chosen Option : 4
Marks : 2




Q.49

Which of the following is permanent adjustment of theodolite?

Ans X 1. Centering of instrument
« 2. Vertical circle index adjustment
X 3. Focusing of objective
X 4. Levelling of an instrument
Question Type : MCQ
Question ID : 630680507944
Option 11D : 6306801985073
Option 2 ID : 6306801985076
Option 3 ID : 6306801985075
Option 4 ID : 6306801985074
Status : Answered
Chosen Option : 2
Marks : 2
@50 wWhich of the following are methods of damp proofing in building?
1. Cavity wall construction
II. Pressure grouting
III. Shot concrete
Ans 1. 1,11 and III
X 2 OnlyIandII
X 3. Only II and III
X 4. Only I and III
Question Type : MCQ
Question ID : 630680507920
Option 1 1D : 6306801984980
Option 2 ID : 6306801984977
Option 31D : 6306801984978
Option 4 ID : 6306801984979
Status : Answered
Chosen Option : 2
Marks : 0




Q.51 Which of the following statement is correct regarding contour characteristics?
I. Two contour lines of different elevations cannot cross each other

II. If contour lines are close together, it indicate steep slope

Ans 1. BothIandII
X 2 OnlyI

X3 OnlyII
X 4. Neither I nor II

Option 1 ID

Question Type :
Question ID :

McQ
630680507938

: 6306801985051
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

6306801985049
6306801985050
6306801985052
Answered

1

2

Q.52 1n the context of seasoning of timber, which of the following statement is correct regarding kiln seasoning?
L Kiln seasoning is adopted for rapid seasoning of timber on large scale

II. Kiln seasoning is natural seasoning method

Ans  X'1. BothIandII
X 2 OnlyII

X 3. Neither I nor II
« 4 Onlyl

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680507899
6306801984895
6306801984894
6306801984896
6306801984893
Answered

1

0




Q.53 The maximum intensity of loading that the soil will safely carry without risk of shear failure is called

Ans X 1. ultimate bearing capacity of soil

« 2. safe bearing capacity of soil
X 3. net pressure intensity

X 4. allowable bearing pressure

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question Type :
: 630680507911
: 6306801984942
: 6306801984941
: 6306801984944
: 6306801984943
: Answered
Chosen Option :
Marks :

MCQ

2
2

Q54 What is the quadrantal bearing of 275° 35’ ?
Ans X1 N 86° 36' W

X2 S84°25'E

3 NB4°25'W

X4 N75°35 W

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

Question Type :
: 630680507928
: 6306801985011
: 6306801985010
: 6306801985009
1 6306801985012
: Answered
Chosen Option :
Marks :

MCQ

3
2




Q55 WWhich of the following statement is correct regarding cast iron pipes?
L. It is used as pressure pipes for transmission of water gas and sewage

IL. It have high resistance to rust and corrosion
Ans 1. Only II
« 2. Both I and IT

X 3. Neither I nor II
X 4 OnlyI

Question Type : MCQ
Question ID : 630680507962
Option 1 ID : 6306801985146
Option 2 ID : 6306801985147
Option 31D : 6306801985148
Option 4 ID : 6306801985145
Status : Answered
Chosen Option : 2
Marks : 2

Q.56 Which of the following statement is correct regarding prismatic compass?

1. In prismatic compass, the graduations are in W.C.B system having 0° at south end, 90° at west, 180° at north and 270°
at east

II. In prismatic compass, the graduation are engraved inverted

Ans X 1. Only II
X 2. Neither I nor IT
X3 OnlyI

« 4 BothIandII

Question Type : MCQ
Question ID : 630680507930
Option 11D : 6306801985018
Option 2 ID : 6306801985020
Option 3 ID : 6306801985017
Option 4 ID : 6306801985019
Status : Answered
Chosen Option : 4
Marks : 2




Q57 Burnt clay hollow blocks (IS : 3952), is also known as

Ans 1. cellular blocks

X 2. perforated blocks
X 3. spots blocks
< 4. chuffs blocks

Question Type : MCQ
Question ID : 630680507908
Option 1 1D : 6306801984929
Option 2 ID : 6306801984930
Option 3 1D : 6306801984932
Option 4 ID : 6306801984931
Status : Answered
Chosen Option : 2
Marks : 0

Q.58 1Inthe context of defect in plaster, which defect consists in formation of small patches of plaster swelling out beyond the
plastered surface and are chiefly due to improper slaking of lime particles in the plaster?

Ans

« 1. Blistering of plaster

X 2. Efflorescence
X 3. Cracking

X 4. Falling out of plaster

Question Type : MCQ
Question ID : 630680507916
Option 11D : 6306801984961
Option 2 ID : 6306801984963
Option 3 ID : 6306801984964
Option 4 ID : 6306801984962
Status : Answered
Chosen Option : 1
Marks : 2




Q5% Which type of cross staff is shown in the given figure?

Ans X 1. Prism cross staff

X 2. French cross staff

« 3. Open cross staff
X 4. Adjustable cross staff

Question Type :
: 630680507927
: 6306801985008
: 6306801985006
Option 3D :
Option 41D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 1D
Option 2 ID

MCQ

6306801985005
6306801985007
Answered

3

2

Q60 Which of the following is an effect of dampness?

I. Presence of damp conditions, cause efflorescence on building surfaces

1. Dampness promotes and accelerates growth of termites
Ans X 1. Only II

X 2 OnlyI

+ 3. BothIand II

X 4. Neither I nor IT

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status

MCQ
630680507917
6306801984966
6306801984965
6306801984967
6306801984968

: Answered
Chosen Option :
Marks :

3
2




Q.61

If the elevation of B.M (Bench mark) is 209.75 m, reading of B.S (Back Sight) is 2.624 m and reading of F.S (Fore

Sight) is 1.920 m, then what will be the H.I (height of instrument)?

Ans X' 1. 210.132 m
X2 207.813m
3 212374 m
X4 211246 m
Question Type : MCQ
Question ID : 630680507936
Option 11D : 6306801985043
Option 2 ID : 6306801985044
Option 3 ID : 6306801985041
Option 4 ID : 6306801985042
Status : Answered
Chosen Option : 3
Marks : 2
Q62 Which type of projection is shown in the given figure?
Ans X 1. First angle projection
X 2. Second angle projection
X 3. Fourth angle projection
« 4. Third angle projection
Question Type : MCQ
Question ID : 630680507894
Option 11D : 6306801984873
Option 2 ID : 6306801984875
Option 3 ID : 6306801984876
Option 4 ID : 6306801984874
Status : Answered
Chosen Option : 1
Marks : 0




Q.63

Ans

Total station can measure, which of the following parameters?

I. Horizontal angle
II. Slope distance

III. Vertical angle

« 1. 1. IT and III

X 2. Only II and III
X3 OnlyTandII
X 4. Only I and III

Question Type :
Question ID :
: 6306801985068

Option 1 ID

Option 2 ID :
Option3 1D :
Option 41D :
Status :

Chosen Option :
Marks :

MCQ
630680507942

6306801985066
6306801985065
6306801985067
Answered

1

2

Q.64 Which of the following is a type of fitting tool, in the context of plumbing work?

Ans

« 1. Spanners
X 2. Hack saw
X 3. Pipe cutter

X 4. Pipe bending machine

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507960
6306801985140
6306801985138
6306801985137
6306801985139
Answered

1

2




Q.65

is the recommended size of door (in mm) for public building like hospital, library.

Ans 1. 1200 * 2100
X 2. 2200 * 2400
X 3900 = 1000
X 4400 = 500
Question Type : MCQ
Question ID : 630680507952
Option 11D : 6306801985105
Option 2 ID : 6306801985106
Option 31D : 6306801985108
Option 4 ID : 6306801985107
Status : Answered
Chosen Option : 2
Marks : 0
Q66 what js the name of carpentry tool shown in the given figure?
Ans X 1. Claw hammer
+ 2. Pincer
X 3. Bradawl
X 4. Wood rasp file
Question Type : MCQ
Question ID : 630680507948
Option 1 1D : 6306801985089
Option 2 ID : 6306801985090
Option 3 ID : 6306801985091
Option 4 ID : 6306801985092
Status : Answered
Chosen Option : 2
Marks : 2




Q.67 Which of the following statement is correct regarding principle of plane table survey?

Ans

L Plane table surveying techniques is very suitable when great precision and accuracy is not required

II. The advantage of plane table surveying is that field work and map plotting is achieved simultaneously

A 1. Neither I nor IT
X 2 OnlyIl

X 3 OnlyI

« 4 BothIandII

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680507932
6306801985028
6306801985026
6306801985025
6306801985027
Answered

4

2

Q.68 1In the context of well classification, which of the following classification is based on method of construction?

Ans

1. Driven wells
II. Gravity wells

III. Open wells

« 1. Only I'and ITI
X 2. Only II and III
X 3. I, IT and III

X 4 OnlyIandII

Question Type :
: 630680507966

Question ID

Option 11D :
Option 2 ID:
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

MCQ

6306801985163
6306801985162
6306801985164
6306801985161
Answered

2

0




Q6% Which of the following is NOT the part of dumpy level?

Ans 1. Wye clip
< 2. Tribrach
X 3. Focusing screws
X 4. Longitudinal bubble
Question Type : MCQ
Question ID : 630680507937
Option 1 ID : 6306801985047
Option 2 ID : 6306801985045
Option 3 1D : 6306801985048
Option 4 ID : 6306801985046
Status : Answered
Chosen Option : 1
Marks : 2
Q.70 The magnetic bearing of a line is 48° 36, what will be the true bearing of a line, if the magnetic declination is 5° 25’
East?
Ans X1 55055
X 2. 53255
X 3. 49° 35’
V45401

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507929
6306801985015
6306801985013
6306801985016
6306801985014
Answered

4

2




Q.71

Ans

Match the following material with its type.

Material Type

I | Copper | 1|Insulating material

IT | Glass

)

Conducting material

IIT | Silicon 3 | Semi-conductor material

¢ 1 1.2, II-1, III-3
X 2. I3, II-1, ITI-2
X 3 1.3, I1-2, I1I-1
X 4 1-2, T1-3, T1I-1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680507957
6306801985128
6306801985125
6306801985127
6306801985126
Answered

4

0

Q.72 1If the angle of slope of ground is 167, then what will be the hypotenusal allowance per chain of 20 m length? (where,

Ans

sec 16° = 1.040)

X 1. 7 link
X 2. 3 link
X 3 5 link
« 4 4 link

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507925
6306801984999
6306801985000
6306801984998
6306801984997
Answered

2

0




Q.73 Arrange the steps of manufacturing process of clay bricks from first to last.

I. Moulding
II. Burning
III. Drying
Ans X1 ML L II
w2 LILII
X3 ILILI
X4 IL I III
Question Type : MCQ
Question ID : 630680507906
Option 11D : 6306801984921
Option 2 ID : 6306801984924
Option 3 1D : 6306801984923
Option 4 1D : 6306801984922
Status : Answered
Chosen Option : 2
Marks : 2
Q74 ¥Which type of material is shown in the given figure?
Ans X 1. Wood
X 2. Earth
« 3. Concrete
X 4. Brick
Question Type : MCQ
Question ID : 630680507896
Option 11D : 6306801984882
Option 21D : 6306801984884
Option 3 1D : 6306801984881
Option 4 1D : 6306801984883
Status : Answered
Chosen Option : 3
Marks : 2




Q75 YWhich of the following is NOT the method of plane table survey?

I. Radiation

II. Resection
Ans 1. Neither I nor II

X 2 OnlyI
X 3. BothIandII
X 4 OnlyII
Question Type : MCQ
Question ID : 630680507935
Option 1 1D : 6306801985040
Option 2 ID : 6306801985037
Option 3 ID : 6306801985039
Option 4 ID : 6306801985038
Status : Answered
Chosen Option : 1
Marks : 2
Section : English/Marathi/General Knowledge/Reasoning Test
Q.76 @reftet reaTar IaETST 2reg; sitesar.
‘sfAs’
Ans X 1.3
X 2. 9tar
o 3. 7gH
X 4.
Question Type : MCQ
Question ID : 630680507976
Option 1 1D : 6306801985203
Option 2 ID : 6306801985201
Option 3 ID : 6306801985202
Option 4 ID : 6306801985204
Status : Answered
Chosen Option : 3
Marks : 2




Q.77 Choose the option which is a synonym (similar to) the bracketed word used in the sentence

given below:

Indian streets are filled with the (cacophony) of horns, pedestrians and animals.

Ans X 1.energy
X 2. movement
& 3. Noise

X 4. calmness

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680507971
6306801985184
6306801985181
6306801985183
6306801985182
Answered

3

2

Q.78 UhIER Qeh daaiedr 195 Uer siigd. Wil 88 2T VAT Sreiedt Ué T ae fhad sr&er?

Ans X 1.107
" 2.108
< 3.109
> 4.110
Question Type : MCQ
Question ID : 630680507987
Option 1 1D : 6306801985247
Option 2 ID : 6306801985246
Option 31D : 6306801985248
Option 4 ID : 6306801985245
Status : Answered
Chosen Option : 2
Marks : 2
Q.79 TR-JeREHg Rt enga, i i RAfre agx aw g onfor ges et ong. AvTesT Srewte
sreREg fAast.
Ans X 1.ZC
X 2.DG
X 3.HK
o 4 WT
Question Type : MCQ
Question ID : 630680507993
Option 11D : 6306801985269
Option 21D : 6306801985270
Option 31D : 6306801985272
Option 41D : 6306801985271
Status : Answered
Chosen Option : 4
Marks : 2




Q.80 ‘YHATAT TT TISTA ILE WRATH I 10T ISATT URS2M ISTa1M=T (emigrants) #ee 3oy
gfaen 2ot amgd?

Ans X 1.98RIE

X 2. TSR
o 3. @
X 4. FAfen
Question Type : MCQ
Question ID : 630680507982
Option 11D : 6306801985228
Option 2 ID : 6306801985227
Option 3 ID : 6306801985226
Option 4 ID : 6306801985225
Status : Answered
Chosen Option : 1
Marks : 0
Q.81 From the options given below choose the antonym (opposite meaning) of the word:
Whimsical
Ans X 1.temperamental
75 2. impulsive
X 3. erratic
o 4. practical
Question Type : MCQ
Question ID : 630680507974
Option 11D : 6306801985196
Option 2 ID : 6306801985193
Option 3 ID : 6306801985195
Option 4 ID : 6306801985194
Status : Answered
Chosen Option : 2
Marks : 0
Q.82 @refiet 2regTa fawseaneff oreg e
‘AT’
Ans X 1. 305
o 2.9
X 3. 3ugreg
X 4. e
Question Type : MCQ
Question ID : 630680507977
Option 1 1D : 6306801985206
Option 2 ID : 6306801985207
Option 31D : 6306801985208
Option 4 ID : 6306801985205
Status : Answered
Chosen Option : 2
Marks : 2




Q.83 Which of the following is the common official language of Jammu & Kashmir, Telangana

and Uttar Pradesh?
Ans o 1. Urdu
5 2. Telugu
X 3. Kashmiri
X 4. Hindi
Question Type : MCQ
Question ID : 630680507984
Option 11D : 6306801985233
Option 2 ID : 6306801985236
Option 3 1D : 6306801985234
Option 4 ID : 6306801985235
Status : Answered
Chosen Option : 4
Marks : 0
Q.84 WRATAH gamET fohel UehRia anfierzor shear Ada?
Ans  F 1.TR
X 2.9
X 3981
X 4. U=
Question Type : MCQ
Question ID : 630680507985
Option 11D : 6306801985237
Option 2 ID : 6306801985240
Option 3 ID : 6306801985239
Option 4 ID : 6306801985238
Status : Answered
Chosen Option: 3
Marks : 0
Q.85 "g thex 3iTth & 14" a1 ufRig sfad=m/a wafdsfit/wd wtor gran/a?
Ans X 1. ufie fafear
o 2. TS Ay
X 3. et AUTHOH
X 4. AR A%
Question Type : MCQ
Question ID : 630680507983
Option 11D : 6306801985230
Option 2 ID : 6306801985229
Option 3 1D : 6306801985232
Option 4 ID : 6306801985231
Status : Answered
Chosen Option : 2
Marks : 2




Q.86 At present, how many seats are filled by the elected representatives in Lok Sabha?

Ans  # 1.543
2 2.550
< 3.530
X 4.544
Question Type : MCQ
Question ID : 630680507986
Option 1 ID : 6306801985242
Option 2 ID : 6306801985241
Option 31D : 6306801985243
Option 4 ID : 6306801985244
Status : Answered
Chosen Option : 4
Marks : 0
Q.87 Which of the following is the correct launch date of Aditya-L1?
Ans  * 1.2 September 2023
X 2.6 September 2023
/X 3.4 September 2023
75 4.10 September 2023
Question Type : MCQ
Question ID : 630680507981
Option 11D : 6306801985223
Option 2 ID : 6306801985224
Option 3 ID : 6306801985221
Option 4 ID : 6306801985222
Status : Answered
Chosen Option : 3
Marks : 0
Q.88 Choose the option which are antonyms (opposite of) the word used in the sentence given
below:
Although witnesses vouched that all the members of the czar’s family had been executed,
there were rumours suggesting that Anastasia had survived. Over the years, a number of
women claimed to be Grand Duchess Anastasia.
Ans  # 1.rumours/ facts
X 2. executed/ killed
X 3. witnesses/ verifies
25 4. duchess/ princess
Question Type : MCQ
Question ID : 630680507969
Option 1 ID : 6306801985175
Option 2 ID : 6306801985174
Option 31D : 6306801985173
Option 4 1D : 6306801985176
Status : Answered
Chosen Option : 3
Marks : 0




Q.89 Wrefter gouftam gty aref sitest.
‘TSt Y pr sy

Ans X 1. 9 oRfeych ot aad.
X 2. TSR et
X 3. arde mite g Agewid arded s,

o 4. ST ST G |t SaRIAR SiA TTeTadl.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Status

Chosen Option :
Marks :

MCQ
630680507979
6306801985215
6306801985213
6306801985216
6306801985214

1
2

Q.90 fRAear arfardha 3@ foreft @R snda Sui=ar &t eneft uer fRAsg Ad ooy &t FaR Ueh e 4a?

U%V@W*X#Y$ZABC@
Ans X 1.2

X 25
3.0
X 43

Question Type :
Question ID :
: 6306801985249

Option 1 ID

Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

MCQ
630680507988

6306801985250
6306801985252
6306801985251
Answered

3

2

Q.91 Erefier areRIRT=ET gl 31 sitear.
‘{TERTAITATS Teh 0l

Ans o 1. 7TIEd STRET STRET Yol
X 2. wER e gt
X 3. 2ty Aoy
X 4. & ot

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507980
6306801985217
6306801985220
6306801985219
6306801985218
Answered

2

0




Q.92 From the options given below choose the antonym (opposite meaning) of the word:

Voracious
Ans X 1.greedy
75 2. ambivalent
75 3. eager
¥ 4. satisfied
Question Type : MCQ
Question ID : 630680507972
Option 11D : 6306801985185
Option 2 ID : 6306801985188
Option 3 ID : 6306801985186
Option 4 ID : 6306801985187
Status : Answered
Chosen Option : 2
Marks : 0
Q.93 From the options given below choose the synonym (similar meaning) of the word:
Quaint
Ans  # 1. antique
X 2.nouveau
/5 3. mundane
X 4. contemporary
Question Type : MCQ
Question ID : 630680507973
Option 11D : 6306801985192
Option 2 ID : 6306801985190
Option 3 ID : 6306801985191
Option 4 ID : 6306801985189
Status : Answered
Chosen Option: 3
Marks : 0
Q.94 Anita is the sister of Rahul. Rahul's father is Amar. Pooja is Amar's wife. How is Pooja
related to Anita?
Ans  &# 1. Mother
/X 2. Daughter
< 3. wife
X 4. Sister
Question Type : MCQ
Question ID : 630680507990
Option 11D : 6306801985260
Option 2 ID : 6306801985257
Option 31D : 6306801985259
Option 41D : 6306801985258
Status : Answered
Chosen Option : 1
Marks : 2




Q.95 @refiet 2reaTaT 31k o1 s

‘e
Ans X 1. W=
X 2. ©aR
o 3. TR
X 4. 9=gar
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
Marks :

McQ
630680507975
6306801985198
6306801985199
6306801985200
6306801985197
Answered

3

2

Q.96 ufge 2rez SaTATU ga=aT rearft Hafde smg =T fad=a ereanft @&fda sraeten ot
fa=r.

STy iR g s SR HS  ?
Ans X 1.3mI
X 2.
o 3. dlcTeprar
X 4. Rt

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507992
6306801985267
6306801985266
6306801985265
6306801985268
Answered

3

2




Q.97 Two statements are given, followed by two conclusions numbered I, and Il. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the statements.

Statements:
I. All computers are devices.
Il. Some devices are smartphones.

Conclusions:
|. Some smartphones are computers.
1. All devices are smartphones.

Ans  # 1. Neither conclusion I nor Il follows
X 2. Both conclusions | and Il follow
X 3. 0nly conclusion Il follows

X 4. 0nly conclusion | follows

Question Type : MCQ
Question ID : 630680507991
Option 1 ID : 6306801985264
Option 2 ID : 6306801985263
Option 31D : 6306801985262
Option 4 ID : 6306801985261
Status : Answered
Chosen Option : 1
Marks : 2

Q.98 ETefiel ATeRIT=ET UehR 3T,

Ans X 1. sr@meff arers
X 2. @rdf arm
o 3. [Iegeff army
X A Thareff arery

Question Type : MCQ
Question ID : 630680507978
Option 1 ID : 6306801985210
Option 2 ID : 6306801985209
Option 3 ID : 6306801985211
Option 4 ID : 6306801985212
Status : Answered
Chosen Option : 1
Marks : 0




Q.99 In a certain code language, if CUP is coded as C5P, SPOON is coded as SP55N, then what
will KNIFE be coded as?

Ans X 1.K5MF5
< 2. KN5E5
7 3. 5KNF5
o 4. KN5F5

Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
Question ID :
Option 11D :

: 6306801985256

: 6306801985253

: 6306801985255

Status:

Chosen Option :

Marks :

McQ
630680507989
6306801985254

Answered
4
2

Q.100 Choose the option which is a synonym (similar to) the bracketed word used in the sentence
given below:

He has been (hapless) in love.
Ans X 1.lost

X 2. passionate
«" 3. unhappy
75 4. lucky

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCcQ
630680507970
6306801985179
6306801985180
6306801985177
6306801985178
Answered

3

2
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Q1 Which of the following is NOT the source of dampness?

Ans X 1. Wet soil
X 2. Penetration of rain-water through unprotected tops
X 3. Foundation wall

« 4 DPC (Damp proof course)

Question Type : MCQ
Question ID : 630680508020
Option 11D : 6306801985379
Option 2 ID : 6306801985377
Option 31D : 6306801985378
Option 4 1D : 6306801985380
Status : Answered
Chosen Option : 4
Marks : 2




Q.2

Ans

Which of the following is type of a angle joints in carpentry work?

I. Housed joint

II. Miter and feather joint

X 1. OnlyI
« 2 BothTIandII

X 3. Neither I nor II
X 4 Only I

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 4 ID:

Status :

Chosen Option :

Marks :

McQ
630680508052
6306801985505
6306801985507
6306801985508
6306801985506
Answered

2

2

Q.3 Inthe context of total station. in which of the following design, both the electronic theodolite and the EDM are

Ans

assembled in a single unit?

« 1. Integrated design

X 2. Traditional design

X 3. Flexible design
X 4. Modular design

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508045
6306801985478
6306801985479
6306801985480
6306801985477
Answered

2

0




Q4 Which of the following type of dimensioning is used in the given figure?

| I |
L
" 80 50 45
Ans X 1. Extension line dimensioning
X 2. Datum line dimensioning
« 3. Chain dimensioning
X 4. Leader line dimensioning
Question Type : MCQ
Question ID : 630680508005
Option 1 ID : 6306801985320
Option 2 ID : 6306801985318
Option 31D : 6306801985317
Option 4 ID : 6306801985319
Status : Answered
Chosen Option : 1
Marks : 0
Q.5 consists in depositing an impervious layer of rich cement mortar over the surface to be water-proofed.
Ans X 1. Integral damp-proofing
X 2. Membrane damp-proofing
« 3. Guniting
X 4. Cavity wall construction
Question Type : MCQ
Question ID : 630680508021
Option 11D : 6306801985381
Option 2 ID : 6306801985384
Option 31D : 6306801985382
Option 4 ID : 6306801985383
Status : Answered
Chosen Option : 3
Marks : 2




Q.6

Ans

of a line is the horizontal angle which it make with any arbitrary meridian passing through one of the
extremities.

X 1. Back bearing
X 2. Fore bearing
X 3. True bearing

« 4 Arbitrary bearing

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508029
6306801985415
6306801985416
6306801985413
6306801985414
Answered

4

2

Q.7 Earthing associated with non-current carrying parts of electrical equipment is called

Ans

X 1. effective earthing
« 2. equipment earthing
X 3. system earthing

X 4. discharge earthing

Question ID
Option 1 1D

Option 4 ID

Question Type :
: 630680508061

: 6306801985544
Option 2 ID :
Option 31D :

McQ

6306801985541
6306801985543

: 6306801985542
Status :
Chosen Option :
Marks :

Answered
1
0




Q.8 Which of the following statement is correct regarding the quadrantal bearing system?

Ans

I. Quadrantal bearing is also known as whole circle bearing.

II. In Quadrantal bearing system. the bearing of a line is measured eastward or westward from north or south.

X 1. Neither I nor I
X 2 BothIandII
« 3 Only I

X 4 OnlyI

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680508030
6306801985420
6306801985419
6306801985418
6306801985417
Answered

3

2

Q9 The deformation of the shape of bricks caused by the rain water falling on hot

Ans

bricks is known as .

X< 1. blisters

« 2. chuffs
X 3. spots
X 4. bloating

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
Marks :

McQ
630680508055
6306801985520
6306801985518
6306801985519
6306801985517
Answered

1

0




Q.10 Which of the following is marking and measuring tools in carpentry work?

I. Steel rule
II. Mortise gauge

III. Carpenter’s vice
Ans X 1. Only I and III

X 2. I, II and III

X 3. Only II and III

« 4. Only I'and I

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680508048
6306801985491
6306801985492
6306801985490
6306801985489
Answered

2

0

Q.11 The amount of reinforcement in foundation units should not be less than
reciprocating type of machines.

Ans

V1. 25 kgx"mB
X 2. 75 kg/m’
X 3. 35 kg/m’

X 4. 50 kg/m’

of concrete for impact type or

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

MCQ
630680508012
6306801985347
6306801985346
6306801985348
6306801985345
Answered

3

0




Q.12

Which of the following is also known as Plaster of Paris?

Ans % 1. Aluminium sulphate plaster
« 2. Calcium sulphate plaster
X 3. Magnesium sulphate plaster
X 4. Carbonated sulphate
Question Type : MCQ
Question ID : 630680508014
Option 11D : 6306801985356
Option 2 ID : 6306801985354
Option 3 ID : 6306801985353
Option 4 1D : 6306801985355
Status : Answered
Chosen Option : 2
Marks : 2
Q13 T engthening joints are subdivided into which of the following type of joint?
I. Tabling joint
II. Fishing joint
III. Cogged joint
Ans 1. Only Iand II
X 2. I, IT and III
X 3. Only IT and III
X 4. Only I and III
Question Type : MCQ
Question ID : 630680508051
Option 11D : 6306801985501
Option 2 ID : 6306801985504
Option 3 ID : 6306801985502
Option 4 ID : 6306801985503
Status : Answered
Chosen Option : 2
Marks : 0




Q.14

Ans

Which type of defect is shown in the given figure?

« 1. Cup shake

# 2. Star shake
X 3. Twisted fibres
X 4. Heart shake

Question Type :
Question ID :
Option 11D :

: 6306801985297

Option 2 ID

Option 31D :
Option 4 1D :
Status:
Chosen Option :
Marks :

McQ
630680508000
6306801985299

6306801985300
6306801985298
Answered

1

2

Q.15 1In the context of source of water, which of the following statement is correct regarding springs?
I. Springs are formed due to emergence of ground water on the earth surface

II. Artesian springs is type of a spring
Ans X 1. Neither I nor II

X 2 OnlyI
+ 3. BothIandII
X 4 OnlyII

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508069
6306801985576
6306801985573
6306801985575
6306801985574
Answered

1

0




Q.16 In the context of surveying, the procedure of ranging, that is establishing of points on a given straight line is called

Ans % 1. prolonging-in
« 2. lining-in
X 3. balancing-in
X 4. levelling-in
Question Type : MCQ
Question ID : 630680508044
Option 11D : 6306801985475
Option 2 ID : 6306801985473
Option 3 ID : 6306801985474
Option 4 ID : 6306801985476
Status : Answered
Chosen Option : 4
Marks : 0
Q17 ¥Which of the following is a type of tapes in chain survey?
I. Linen tape
II. Metallic tape
III. Steel tape
Ans X 1. Only II and III
« 2. I, IT and III
X 3 OnlyIandII
X 4. Only I and IIT
Question Type : MCQ
Question ID : 630680508023
Option 11D : 6306801985390
Option 2 ID : 6306801985392
Option 3 ID : 6306801985389
Option 4 ID : 6306801985391
Status : Answered
Chosen Option : 3
Marks : 0




Q.18 During the levelling work, parallax can be eliminated by which of the following steps?

1. Focusing the eye-piece

II. Focusing the objective

Ans 1. BothIand II

X 2 OnlyII
X3 OnlyI

K 4 Weither I nor IT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508037
6306801985447
6306801985446
6306801985445
6306801985448
Answered

1

2

Q.19 Ifthe angle of slope of a ground is 18°, what will be the hypotenusal allowance per chain of 20 metre length? (where,

secl8° = 1.051)

Ans X 1. 4.13 link
X 2573 link
« 3. 5.15 link
X 4594 link

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508027
6306801985408
6306801985406
6306801985405
6306801985407
Answered

3

2




Q20 wyhich of the following defect are caused by dampness in building?

I. Softening and crumbling of plaster

IT. Corrosion of metals
X 1. Only I

A 2. Neither I nor I
« 3. Both Tand II

X 4 OnlyII

Ans

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 ID:

Status :
Chosen Option :
Marks :

McQ
630680508019
6306801985373
6306801985376
6306801985375
6306801985374
Answered

3

2

Q21 Which of the following statement is correct regarding hardness of water?

I. Hardness in water is caused by Ca®" and Mg2+ ions

I1. Hard water is suitable for bathing, washing and cleaning
X 1. Only I

X 2. BothIand II

3 OnlyI

X 4. Neither I nor IT

Ans

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :
Marks

Question Type :
Question ID :

McQ
630680508066

1 6306801985562
: 6306801985563
1 6306801985561
1 6306801985564

Answered
2

:0




Q.22 which of the following statement is correct regarding contouring?

Ans

I. Contour lines of different elevation can intersect only in the case of overhanging cliff

II. Vertical control method is indirect method of contouring

« 1. OnlyI

X 2. BothIandII
X3 OnlyII

< 4 Neither I nor IT

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680508039
6306801985453
6306801985455
6306801985454
6306801985456
Answered

2

0

Q23 wWood product veneers, are mentioned in which of the following IS code?

Ans

X 1. IS : 456

X 2. 1IS: 12406
X3 1S:3129
« 4 IS 1 14315

Question Type :
Question ID :
Option 11D :
Option2 D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508054
6306801985514
6306801985516
6306801985515
6306801985513
Answered

4

2




Q24 WWhich of the following is NOT a type of flooring?

I. Timber flooring

II. Linoleum flooring

Ans 1. Neither I nor IT
<2 BothIandII
X3 OnlyI
X 4 Only II
Question Type : MCQ
Question ID : 630680508018
Option 11D : 6306801985372
Option 2 ID : 6306801985371
Option 31D : 6306801985369
Option 4 ID : 6306801985370
Status : Answered
Chosen Option : 1
Marks : 2
Q25 which of the following statement is correct regarding revenue chain?
I. The revenue chain is 66 ft. long and consists of 16 links
II. The revenue chain is used for measuring field in cadastral survey
Ans

X 1. BothIandII
X 2 OnlyI

X 3. Neither I nor IT
« 4 Only IT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508024
6306801985395
6306801985393
6306801985396
6306801985394
Answered

1

0




Q.26 The length of a line measured with a 20 metre chain was found to be 270 metre. What will be the true length of the line,

if the chain was 8 cm too long?

Ans 1. 271.08 metre
X 2. 251.25 metre
< 3. 261.09 metre
X 4. 253.08 metre

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508026
6306801985402
6306801985401
6306801985403
6306801985404
Answered

1

2

Q.27 is a graphical method of survey in which the field observations and plotting proceed simultaneously.

Ans X 1. Levelling
« 2. Plane table survey
X 3. Tacheometric survey

X 4. Trigonometrical levelling

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680508033
6306801985429
6306801985430
6306801985432
6306801985431
Answered

2

2




Q.28

Ans

Which of the following type of error occur due to manipulation and sighting in plane table survey?

L. Defective orientation
II. Errors of plotting

III. Inaccurate centring

X 1. Only II and III
« 2. Only I and III
X 3. I, IT and III

X 4 OnlyIand II

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508036
6306801985442
6306801985443
6306801985444
6306801985441
Answered

3

0

Q.29 Which of the following statement is correct regarding ‘Dry rot’ disease in timber?

Ans

I Dry rot disease is highly infectious and causes tremendous destruction

II. Dry rot occurs when the timber is perfectly seasoned and placed in a moist atmosphere

X 1. BothIandII
X 2 Only I

X 3. Neither I nor II
4 Onlyl

Question Type :
: 630680508046
: 6306801985483
Option 2 ID :
: 6306801985484
1 6306801985481
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID

Option 3 ID
Option 4 ID

McQ

6306801985482

Answered
1
0




Q.30

Which of the following brick is classified on the basis of burning?

I. Arch brick

II. Facing brick

Ans X1. Both T and II
X 2. Neither I nor II
3 OnlyI
X 4 OnlyII
Question Type : MCQ
Question ID : 630680508009
Option 11D : 6306801985335
Option 2 ID : 6306801985336
Option 3 ID : 6306801985333
Option 4 ID : 6306801985334
Status : Answered
Chosen Option : 2
Marks : 0
Q31 Arrange the preparation of brick earth process from start to end.
I. Weathering
II. Blending
III. Digging
IV. Tempering
V. Unsoiling
Ans X1 LIIL IV, V. II
X2 IVVILIII
X IOLILL VIV
4 VILLILIV
Question Type : MCQ
Question ID : 630680508007
Option 11D : 6306801985326
Option 2 ID : 6306801985327
Option 3D : 6306801985325
Option 4 ID : 6306801985328
Status : Answered
Chosen Option : 4
Marks : 2




Q32 which of the following is the form of raking bond in brick masonry?

L. Herring-bone bond

II. Duch bond
Ans @1 Onlyl
X 2. Neither I nor IT
X3 OnlyII
X 4 BothIandII

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508017
6306801985365
6306801985368
6306801985366
6306801985367
Answered

4

0

Q33 Which type of chisel is shown in given figure?

Ans 1. Mortise chisel
X 2. Dovetail chisel
X 3. Firmer chisel
X 4. Claw chisel

Question Type :
: 630680508053

Question ID

Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :
Marks :

McQ

6306801985509
6306801985511
6306801985510
6306801985512
Answered

4

0




Q.34 In the context of preservation of timber, which of the following is organic solvent preservatives?

Ans X 1. Carbolineum

« 2. Pentachlorophenol

X 3. Zinc chloride
& 4. Creosote

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508001
6306801985302
6306801985304
6306801985303
6306801985301
Answered

4

0

@35 Tp the context of first aid, CPR stand for
Ans X 1. Circuit-Pulmonary-Resuscitation
X 2. Combined-Polutary-Resuscitation
X 3. Clinical-Pulmonary-Resuscitation

« 4. Cardio-Pulmonary-Resuscitation

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680508060
6306801985538
6306801985539
6306801985540
6306801985537
Answered

3

0

Q.36

measurement and it made to determine the natural features of a country such as rivers, streams, lakes?

Ans X 1. Astronomical survey

« 2. Topographical survey
X 3. Cadastral survey

X 4. Hydrographic survey

Which of the following type of survey consists of horizontal and vertical location of certain point by linear and angular

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

MCQ
630680508022
6306801985388
6306801985386
6306801985385
6306801985387
Answered

2

2




Q.37 1n the context of carpentry joint, lengthening joint is also known as
Ans X 1. housing joint
X 2. framing joint
X 3. angle joint

« 4. spliced joint

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508050
6306801985497
6306801985499
6306801985498
6306801985500
Answered

4

2

@38 WWhich of the following is characteristic of good timber?

I. Narrow annual rings
IT. Uniform texture

III. Compact medullary rays
X 1. Only I and IIT

X 2 OnlyIandII

« 3. I, II and III

X 4. Only I and III

Ans

Question Type :
: 630680507999
: 6306801985295
Option 2 ID :
Option3 1D :
Option 41D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID

McQ

6306801985293
6306801985296
6306801985294
Answered

3

2




Q.39 Which of the following statement is correct regarding the window in building?

Ans

I. Window is an opening made in a wall for the purpose of providing day light vision and ventilation

II. Bay windows is a type of window

& 1. Neither I nor I
X2 OnlyII

« 3 BothIandII
X 4 Only I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508057
6306801985528
6306801985526
6306801985527
6306801985525
Answered

3

2

Q.40 In the context of defect in timber,

Ans

discolouration of overmatured trees.

X 1. End splits

« 2. Foxiness
X 3. Upsets

X 4. Ruptane

is a sign of decay appearing in the form of yellow or red tinge or

Option 4 ID

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

McQ
630680508047
6306801985488
6306801985486
6306801985485

1 6306801985487
Status:
Chosen Option :
Marks :

Answered
3
0




Q.41

Ans

is the process of spacing the contours proportionately between the plotted ground point established by indirect

methods.

X 1. Grading of contour

< 2. Method of contour
« 3. Interpolation of contour

X 4. Elimination of contour

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

13

12

Chosen Option
Marks

McQ
630680508041
6306801985463
6306801985462
6306801985461
6306801985464
Answered

Q42 wwhich of the following is the method to draw a line in CAD?

Ans

I. Polar co-ordinates method

II. Relative co-ordinates method
X 1. Neither I nor II
X2 OnlyIl

X3 OnlyI
« 4 BothTIand IT

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508002
6306801985308
6306801985306
6306801985305
6306801985307
Answered

3

0




Q43 YWhich of the following is type of lettering in drawing?

I. Freehand lettering

II. Gothic lettering
X 1. OnlyII

< 2. Neither I nor II
X 3 OnlyI

« 4 BothIandII

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507996
6306801985282
6306801985284
6306801985281
6306801985283
Answered

4

2

Q.44 Tn the context of sanitary fitting, squatting water closet is also known as

Ans X 1. European type water closet

« 2. Indian type water closet
X 3. Pedestal type water closet

X 4. Wash-down type water closet

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID
Status

Chosen Option
Marks

McQ
630680508064
6306801985556

: 6306801985553
Option 31D :

6306801985554

: 6306801985555
: Answered

03

:0




Q45 In of plane table survey, a ray is drawn from the instrument station towards the point, the distance is measured

between the instrument station and that point.

Ans 1. Radiation method
X 2. Resection method
& 3. Intersection method

X 4. Traversing method

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Status

Chosen Option :
Marks :

McQ
630680508035
6306801985437
6306801985440
6306801985438
6306801985439

1
2

Q.46 In AutoCAD, a two dimensional
entity at precise angles.

Ans 1. ROTATE
X 2. MOVE
X 3. ARRAY
X 4 COPY

command help you turn existing objects, a portion of the object or just one

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508003
6306801985311
6306801985310
6306801985312
6306801985309
Answered

1

2

Q47 Tuming the telescope in a horizontal plane is known as
Ans X 1. changing face
« 2. swinging
X 3. transiting

X 4. telescope inverted

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508043
6306801985471
6306801985469
6306801985470
6306801985472
Answered

2

2




Q.48 Which of the following tool is used to make cylindrical holes by cutting the material?

Ans X 1. Measuring tape
< 2. Plumb bob
« 3. Drill bits
X 4. Hangers
Question Type : MCQ
Question ID : 630680508063
Option 11D : 6306801985551
Option 2 ID : 6306801985552
Option 3 ID : 6306801985549
Option 4 1D : 6306801985550
Status : Answered
Chosen Option : 3
Marks : 2
Q.49 is resorted to when both the ends of the survey line are not intervisible either due to high intervening ground or
due to long distance between them.
Ans

X 1. Mark ranging

« 2. Reciprocal ranging
X 3. Direct ranging

X 4. Unfold ranging

Question Type : MCQ
Question ID : 630680508025
Option 11D : 6306801985399
Option 2 ID : 6306801985397
Option 31D : 6306801985398
Option 4 1D : 6306801985400
Status : Answered
Chosen Option : 2
Marks : 2




Q50 WWhich of the following statement is correct regarding kitchen sinks?
L. Kitchen sink are used for cleaning utensils

II. A kitchen sink is a shallow rectangular basin
Ans X 1. Neither I nor II

« 2. Both I and II

X3 OnlyII

X 4 Only1

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 D :

Status :

Chosen Option :

Marks :

MCQ
630680508065
6306801985560
6306801985559
6306801985558
6306801985557
Answered

2

2

Q.51 InAutoCAD, if we want to magnify an object or group while keeping the screen at full window, the command
can be used.

Ans 1. SCALE
X 2. COPY
X 3. BLOCK
X 4 MIRROR

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Question Type :
Question ID :

McQ
630680508004

: 6306801985315
: 6306801985316
: 6306801985314
: 6306801985313

Status :
Chosen Option :

Marks :

Answered
4
0




Q.52 In the context of classification of timber, structural grading is also known as

Ans % 1. flat sawn grading
« 2. stress grading
X 3. commercial grading
X 4. strain grading
Question Type : MCQ
Question ID : 630680507998
Option 11D : 6306801985292
Option 2 ID : 6306801985290
Option 31D : 6306801985289
Option 4 ID : 6306801985291
Status : Answered
Chosen Option : 1
Marks : 0
Q53 In type of door two additional members are provided in the form of inclined braces between the ledges.
Ans X 1. framed and panelled
X 2. flush
X 3. glazed or sash
« 4. battened ledged and braced
Question Type : MCQ
Question ID : 630680508056
Option 11D : 6306801985521
Option 2 ID : 6306801985523
Option 31D : 6306801985522
Option 4 ID : 6306801985524
Status : Answered
Chosen Option : 4
Marks : 2
Q54 The crushing strength of first class brick should not be less than :
Ans .
v 110 N/mm?
X2 40 N/mm?
X3 20 N/mm?
X 4 7 N/mm?
Question Type : MCQ
Question ID : 630680508008
Option 11D : 6306801985330
Option 21D : 6306801985332
Option 31D : 6306801985329
Option 41D : 6306801985331
Status : Answered
Chosen Option : 1
Marks : 2




@55 WWhich type of brick wall is shown in the given figure?

-
-

-‘
e

Ans X1 3 brick thick wall
X 2. 2 brick thick wall

x31 % brick thick wall

@42 g brick thick wall

Question Type :
: 630680508016
: 6306801985364
: 6306801985363
: 6306801985362
: 6306801985361
: Answered
Chosen Option :
Marks :

Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ

4
2




Q.56 Which of the following physical feature is represented by the given contour figure?

Ans

100

105
110

& 1. Plane surface

+ 2. Hill

X 3. Undulating surface

X 4. Valley

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680508040
6306801985459
6306801985457
6306801985460
6306801985458
Answered

2

2

Q57 ¥Which of the following is NOT the type of piles in foundation?

Ans

I. Fender piles

II. Compaction piles
A 1. BothIandII

o 2. Neither I nor IT
X3 OnlylI

X 4 OnlyII

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MCQ
630680508010
6306801985339
6306801985340
6306801985337
6306801985338
Answered

2

2




Q.58  AsperIS: 962 — 1989, what is the recommended size of A4 sheet (in mm)?
Ans 1. 297 x 420

X 2841 =900

X 3. 594 = 841

4 210 %297

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680507995
6306801985277
6306801985280
6306801985278
6306801985279
Answered

4

2

Q.59 Which of the following statement is correct regarding ‘parts of theodolite and their function™?
I. Clamp and tangent screws are provided to control the motion of vertical circle. horizontal circle and the lower plate

II. Adjustable head is attached to the levelling head which can be moved slowly

Ans X1, Neither I nor IT
« 2 BothIandII
X3 OnlyII

X 4 OnlyI

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508042
6306801985468
6306801985467
6306801985466
6306801985465
Answered

2

2




Q.60 Surveyor’s compass is shown in the figure. What is the name of part, denoted as number 3?

Ans

X 1. Lifting lever
X 2. Lifting pin
« 3. Sight vanes
X 4. Glass top

Question Type :
: 630680508032
: 6306801985427
: 6306801985426
: 6306801985428
: 6306801985425
: Answered

03

12

Question ID
Option 1 ID
Option 2 ID
Option 3 1D
Option 4 ID
Status
Chosen Option
Marks

McQ

Q.61 When piles are driven at an inclination to resist large horizontal or inclined forces, the piles are termed as

Ans

X 1. friction piles
« 2. batter piles
X 3. sheet piles

X 4. anchor piles

Question Type :
: 630680508011

: 6306801985344
: 6306801985342
: 6306801985343
: 6306801985341
: Answered

12

12

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option
Marks

McQ




Q.62 In the context of ingredients of brick, excess of
Ans

X 1. alumina
« 2. gilica
# 3. lime

X 4. magnesia

makes the brick brittle and weak on burning.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508006
6306801985322
6306801985321
6306801985323
6306801985324
Answered

2

2

Q63 Which of the following is a type of cross staff instrument in chaining?

Ans

1. Open cross staff

II. Adjustable cross staff

X 1. Only I

X 2. Neither I nor II
X 3. OnlyI

« 4 BothIandII

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
Chosen Option :
Marks :

McQ
630680508028
6306801985410
6306801985412
6306801985409
6306801985411
Answered

4

2




Q.64 Which of the following is NOT a drilling and boring tool in carpentry work?

Ans X 1. Gimlet
X 2. Auger Bit
X 3. Carpenter’s Brace
« 4 Chisels
Question Type : MCQ
Question ID : 630680508049
Option 11D : 6306801985495
Option 2 ID : 6306801985493
Option 3 ID : 6306801985494
Option 4 1D : 6306801985496
Status : Answered
Chosen Option : 4
Marks : 2
Q65 YWhat is name of plumbing tool shown in the given figure?
Ans X' 1. Hack saw
« 2. Pipe cutter
X 3. Screwdriver
& 4. Chain wrench
Question Type : MCQ
Question ID : 630680508062
Option 11D : 6306801985545
Option 2 ID : 6306801985546
Option 3 ID : 6306801985547
Option 4 ID : 6306801985548
Status : Answered
Chosen Option : 2
Marks : 2




Q.66 YWhat is the quadrantal bearing of 265°34'?
Ans X 1. §55°34'W

« 2. S85°34'W

X 3. §56°35'W

X 4. §65°30"W

Question Type : MCQ
Question ID : 630680508031
Option 11D : 6306801985422
Option 2 ID : 6306801985421
Option 31D : 6306801985423
Option 4 ID : 6306801985424
Status : Answered
Chosen Option : 2
Marks : 2

Q.67 Which of the following statement is correct regarding working with electrical equipment or devices?
I. During the repairing of an electrical device always turn-on the main supply

II. Never touch or try repairing any electrical equipment or circuits with wet hands

Ans X' 1. Neither I nor IT
« 2. Only I

X 3. BothIandII
X 4 OnlyI

Question Type : MCQ
Question ID : 630680508059
Option 11D : 6306801985536
Option 2 ID : 6306801985534
Option 31D : 6306801985535
Option 4 ID : 6306801985533
Status : Answered
Chosen Option : 2
Marks : 2




Q.68 Arrange the working operation in plane table survey from first to last during survey.
I Fixing
II. Sighting the point
III. Setting
Ans 1 LILII
X2 LILIII
X3 IO LII
X4 IO, 10, I

Question Type : MCQ
Question ID : 630680508034
Option 11D : 6306801985436
Option 2 ID : 6306801985435
Option 3 ID : 6306801985434
Option 4 1D : 6306801985433
Status : Answered
Chosen Option : 1
Marks : 2

Q69 WWhich type of footing is shown in the given figure?

W, T P _:1"[1'—'?

Ans X 1. Wall footing
X 2. Reinforced concrete footing
« 3. Inverted arch footing
X 4. Column footing

Question Type : MCQ
Question ID : 630680508013
Option 11D : 6306801985349
Option 21D : 6306801985351
Option 31D : 6306801985352
Option 4 1D : 6306801985350
Status : Answered
Chosen Option : 3
Marks : 2




Q.70  AsperIS: 962 — 1989, the ratio of the thick to the thin line shall not be less than .

Ans 1. 2:1
X23:1
X3 1:1
X43:2
Question Type : MCQ
Question ID : 630680507997
Option 11D : 6306801985286
Option 2 ID : 6306801985287
Option 31D : 6306801985285
Option 4 ID : 6306801985288
Status : Answered
Chosen Option : 2
Marks : 0
Q.71 If the elevation of B.M. (Bench Mark) is 209.86 metre, reading of back sight is 2.424 metre and reading of fore sight is
1.762 metre, then what will be the H.I. (Height of Instrument)?
Ans 1. 212.284 metre
X 2. 211.622 metre
X 3. 215.282 metre
X 4. 210.562 metre
Question Type : MCQ
Question ID : 630680508038
Option 11D : 6306801985449
Option 2 ID : 6306801985450
Option 31D : 6306801985452
Option 4 ID : 6306801985451
Status : Answered
Chosen Option : 4
Marks : 0




Q.72 yWhat is the name of valve used in plumbing as shown in the given figure?

Ans

K 1. Air valve
« 2. Scour valve

# 3. Foot valve

X 4. Ferrule
Question Type : MCQ
Question ID : 630680508068
Option 11D : 6306801985569
Option 2 ID : 6306801985570
Option 31D : 6306801985571
Option 4 ID : 6306801985572
Status : Answered
Chosen Option : 1
Marks : 0
Q.73 In the context of wiring material and components, materials are classified into which of the following types?
I. Conducting materials
II. Insulating materials
III. Semiconductor materials
Ans 1. 1,11 and III
X 2. Only I and IIT
X 3. Only I and III
X 4 OnlyIandII
Question Type : MCQ
Question ID : 630680508058
Option 11D : 6306801985532
Option 2 ID : 6306801985531
Option 31D : 6306801985530
Option 4 ID : 6306801985529
Status : Answered
Chosen Option : 1
Marks : 2




Q.74

Ans 1. glide valve

# 2. Foot valve
X 3. Globe valve

« 4. Float valve

is used for stopping water when the water tank or flush toilet is filled.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508067
6306801985568
6306801985566
6306801985567
6306801985565
Answered

3

0

Q.75 Indian Standard Institution has established a standard size for the brick. Such a brick is known as

Ans

X 1. Perforated brick
< 2. Hollow brick

« 3. Modular brick
< 4. Traditional brick

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508015
6306801985360
6306801985357
6306801985358
6306801985359
Answered

3

2

Section : English/Marathi/General Knowledge/Reasoning Test

Q.76 WRATT AT fAgeh ot Hwa?

Ans X 1.SFar
X 2. g
X 3. AR

o 4. TEat

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

MCQ
630680508087
6306801985646
6306801985648
6306801985645
6306801985647
Answered

3

0




Q.77 In the following conversation, identify the synonym (similar) of the bracketed word:

Person A = | am very scared of the office party. | am an (introvert).
Person B= Don't worry, | will help you out throughout.

Ans X 1.fun-loving
X 2. outgoing
/X 3. cordial
«” 4.shy
Question Type : MCQ
Question ID : 630680508071
Option 1 ID : 6306801985582
Option 2 ID : 6306801985581
Option 3 ID : 6306801985584
Option 4 ID : 6306801985583
Status : Answered
Chosen Option: 3
Marks : 0
Q.78 Uant fafAre wichfaer wmdd, SR JUNGLE & ELGNUJ 3@, DESERT & TRESED 31& Hhddlg dhet
30, 9% OCEAN @ & Hehddlg het STISe1?
Ans X 1.NAEOC
X 2. ANECO
& 3. NAECO
7 4.NACEO
Question Type : MCQ
Question ID : 630680508090
Option 1 ID : 6306801985659
Option 21D : 6306801985658
Option 31D : 6306801985660
Option 4 ID : 6306801985657
Status : Answered
Chosen Option : 3
Marks : 2
Q.79 T@=d1 & |ar (SHS) ar wifga=n fawy &g gar?
Ans o 1. HIRHH YRd
X 2. TREE WRa
75 3. TR RA
/< 4. UguUHh MRd
Question Type : MCQ
Question ID : 630680508083
Option 11D : 6306801985630
Option 21D : 6306801985631
Option 31D : 6306801985629
Option 41D : 6306801985632
Status : Answered
Chosen Option : 1
Marks : 2




Q.80 farares= 2023 wed yoW Gl Afg=ifAy whivft Sicre1?
Ans X 1.Ategre Sitettaa

X 2. AR PR
o 3. P STehRIST
X 4. % e
Question Type : MCQ
Question ID : 630680508082
Option 11D : 6306801985626
Option 21D : 6306801985628
Option 31D : 6306801985627
Option 4 ID : 6306801985625
Status : Answered
Chosen Option : 1
Marks : 0
Q.81 @refiel A== TS 2reg; itesar.
‘der
Ans X 1.9
o 2. %
X 3.9
< 4. dhalTg,
Question Type : MCQ
Question ID : 630680508077
Option 11D : 6306801985606
Option 2 ID : 6306801985605
Option 31D : 6306801985608
Option 4 ID : 6306801985607
Status : Answered
Chosen Option : 2
Marks : 2
Q.82 @refiel areprERTE avg 3y i,
‘gTTeaR T 3o
Ans o 1. BhOgd STt
X 2. dkgrent
X 3. e a0
X 4. 93ge B30t
Question Type : MCQ
Question ID : 630680508081
Option 11D : 6306801985624
Option 2 ID : 6306801985623
Option 3 ID : 6306801985621
Option 4 1D : 6306801985622
Status : Answered
Chosen Option : 1

Marks :

2




Q.83 g faremff gent vigte swet giq. =T shHieh a1 11 ar SNfor A@TURE 53 a1 gidr. vhaen

Toeiean faemaft ggor Twer e,
Ans  # 1.63
< 2.62
< 3.65
X 4.64
Question Type : MCQ
Question ID : 630680508088
Option 11D : 6306801985651
Option 2 ID : 6306801985652
Option 3 ID : 6306801985650
Option 4 ID : 6306801985649
Status : Answered
Chosen Option : 1
Marks : 2
Q.84 Choose the option which is a synonym (similar to) the bracketed word used in the sentence
given below:
They have a (resplendent) house.
Ans X 1.drab
X 2. huge
&" 3. beautiful
X 4. small
Question Type : MCQ
Question ID : 630680508074
Option 11D : 6306801985596
Option 2 1D : 6306801985595
Option 3 ID : 6306801985594
Option 4 ID : 6306801985593
Status : Answered
Chosen Option : 4
Marks : 0
Q.85 Wi QreaTaT 31 1Y siiwa.
‘ST
Ans X 1.9
X 2. URY
X 3.3
o 4.2ac
Question Type : MCQ
Question ID : 630680508076
Option 11D : 6306801985603
Option 21D : 6306801985601
Option 31D : 6306801985604
Option 41D : 6306801985602
Status : Answered
Chosen Option : 4
Marks : 2




Q.86 In the following conversation, identify the antonym (opposite) of the bracketed word:

Person A = My manager was acting so (vicious) today
Person B= Oh, | am sorry. Can | do something to help?

Ans X 1.Funny
& 2. Kind
/< 3.ignorant
X 4. cruel
Question Type : MCQ
Question ID : 630680508070
Option 11D : 6306801985579
Option 2 ID : 6306801985578
Option 3 ID : 6306801985580
Option 4 ID : 6306801985577
Status : Answered
Chosen Option : 1
Marks : 0
Q.87 MIRATET IAHTYT ATE! 3 MR ISToe =T hIvTT ST Fgedt e 31mg?
Ans X 1. 3% 271
o 2. 3% 343
X 3. 31w 340
X 4. 31w 270
Question Type : MCQ
Question ID : 630680508085
Option 11D : 6306801985640
Option 2 ID : 6306801985637
Option 31D : 6306801985639
Option 4 ID : 6306801985638
Status : Answered
Chosen Option : 1
Marks : 0
Q.88 Wreliet 2reaTa fAwseaTeff 2reg site.
‘At
Ans o 1. TROAS
X 2. 99
X 3. gFsieGR
X 4. T
Question Type : MCQ
Question ID : 630680508078
Option 11D : 6306801985612
Option 21D : 6306801985609
Option 31D : 6306801985611
Option 41D : 6306801985610
Status : Answered
Chosen Option : 1
Marks : 2




Q.89 fdear arfardha 3@ forelt @@= enda, Sui=an witerw aneft 3nfoy eiterer iR TS wWR emga?

X1#YUISZU*A@BO%CDAE%ANF@

Ans X 1.3
X 22
X 3.1
& 4.0
Question Type : MCQ
Question ID : 630680508089
Option 11D : 6306801985656
Option 2 ID : 6306801985654
Option 3 ID : 6306801985653
Option 4 ID : 6306801985655
Status : Answered
Chosen Option : 4
Marks : 2
Q.90 Choose the option which are antonyms (opposite of) the word used in the sentence given
below:
It is important for teachers not just to be aware of these misaligned expectations, but to
address their first manifestations. Intervention is necessary, and time is of the essence.
Ans X 1. manifestation/ demonstration
#< 2. misaligned/ disarranged
" 3. essence/ inessential
/X 4. expectations/ anticipations
Question Type : MCQ
Question ID : 630680508075
Option 11D : 6306801985599
Option 2 ID : 6306801985597
Option 3 ID : 6306801985600
Option 4 ID : 6306801985598
Status : Answered
Chosen Option : 3
Marks : 2
Q.91 @it wguft=m gt aref siiesr.
‘ORI TS T 2ArgTof
Ans o 1. 3TTETofl iRl srefae BTUATATET HISUUT AT+
X 2. TETeT SiRITEaReH TiTeAT ygTfet udter T ad.
X 3. grA ShTeTd A |t SaRiaR SiFe TeTad.
27X 4. STt 3T goR SAT AT HRIET gidl.
Question Type : MCQ
Question ID : 630680508080
Option 11D : 6306801985617
Option 21D : 6306801985619
Option 31D : 6306801985620
Option 41D : 6306801985618
Status : Answered
Chosen Option : 1
Marks : 2




Q.92 Choose the option which are antonyms (opposite of) the word used in the sentence given

Ans

below:

Self-driving cars also known as autonomous cars can scan their immediate surroundings
and navigate without any human intervention. The obvious benefit to this technology is
convenience.

«” 1. obvious/ ambiguous
< 2. convenience/ ease
/< 3.intervention/ mediation

#< 4. autonomous/ independent

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508073
6306801985591
6306801985592
6306801985590
6306801985589
Answered

1

2

Q.93 In the following conversation, identify the antonym (opposite) of the bracketed word:

Ans

Person A = | am thinking of learning French but it is a (daunting) thought.
Person B= It sounds very exciting! You should definitely try it.

" 1. calming
75 2. preliminary
/5 3. frightening
X 4. Fun

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508072
6306801985585
6306801985587
6306801985586
6306801985588
Answered

4

0




Q.94 AT YRR FERT 2AE ufgear ereaeft Hafda g, =g uerR faa=a ereareft Heifde srereren vafa
A=t

gzﬁ;gg:rﬂ?lﬂ::ﬂm:?
Ans o 1. SETETET

X 2.7z
X 3. gHa=
X 4. sriaar
Question Type : MCQ
Question ID : 630680508093
Option 11D : 6306801985669
Option 2 ID : 6306801985672
Option 31D : 6306801985670
Option 4 ID : 6306801985671
Status : Answered
Chosen Option : 1
Marks : 2
Q.95 SR 9HR g1 friecrremn afesi=an Tghrerean Gert goran Jerm 1€, a) THRE fraiewnf wm T
S ™¥e?
Ans X 1.91%
& 2. TaT= geim
X 3. AT e
X 4. UdET 9T,
Question Type : MCQ
Question ID : 630680508091
Option 11D : 6306801985661
Option 2 ID : 6306801985664
Option 3 ID : 6306801985662
Option 4 ID : 6306801985663
Status : Answered
Chosen Option : 1
Marks : 0
Q.96 fRiy TETS} =T 2Ue7 HIvTaT STR?
Ans X 1.Higoiics!
o 2.f8y
X 3. ¥R
X 4. gsum
Question Type : MCQ
Question ID : 630680508086
Option 11D : 6306801985644
Option 2 ID : 6306801985641
Option 31D : 6306801985643
Option 41D : 6306801985642
Status : Answered
Chosen Option : 4
Marks : 0




Q.97 9R 3ieR-Tyg ke anga, =mdh i+ fAfe vrR a9 anga, gah AvresT ong. AvTeT ST

Ans

31&R-qg A=t
X 1.HM
X 2.8X

3. 1M
X 4.WB

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508094
6306801985675
6306801985674
6306801985673
6306801985676
Answered

3

2

Q.98 Two statements are given, followed by two conclusions numbered I, and Il. Assuming the

Ans

statements to be true, even if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the statements.

Statements:
I. All roses are flowers.
Il. No flowers are trees.

Conclusions:

I. No roses are trees.
Il. Some trees are not flowers.

5 1. Neither conclusion | nor Il follows
#5 2. Only conclusion | follows
&" 3. Both conclusions | and Il follow

#5 4. Only conclusion Il follows

Question Type :
Question ID :
Option 11D :
Option 2 ID:
Option 3D :
Option 41D :

: Answered

Chosen Option :

Marks :

Status

McQ
630680508092
6306801985668
6306801985665
6306801985667
6306801985666

3
2




Q.99 HReR YRR fasidt ufgeft afgen wior gidt?
Ans X 1. STTUT ST 3t

X 2. FeR AT
o 3. SRy et
X 4. TH. 7. gegereHt

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680508084
6306801985636
6306801985633
6306801985634
6306801985635
Answered

2

0

Q.100 &Y aTeRITe el ShTeTaT=ieh fepaTfaLivor e,

Ans X 1. eIy
X 2.3
X 3. usat

o 4. IRAR

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508079
6306801985615
6306801985613
6306801985616
6306801985614
Answered

4

2
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Candidate Registration
photo

ng Ass course level

Q1 A is an electro-mechanical safety device which operate and disconnect the circuit supply, when the current
drawn from the circuit increases to a pre-determined value.

Ans X 1. Tron clad triple pole

« 2. Miniature circuit breaker

X 3. Ceiling rose

X 4. Iron clad double pole

Question Type : MCQ
Question ID : 630680508162
Option 11D : 6306801985946
Option 2 ID : 6306801985945
Option 31D : 6306801985948
Option 4 ID : 6306801985947
Status : Answered
Chosen Option: 2
Marks : 2




Q@2 1n which of the following stones are used?

L In heat and chemically resistant item

I In road construction item
Ans X 1. Neither I nor I
X 2. Only IT
X3 OnlyI
+ 4 BothIandII

Question Type : MCQ
Question ID : 630680508110
Option 1 ID : 6306801985740
Option 2 ID : 6306801985738
Option 31D : 6306801985737
Option 4 ID : 6306801985739
Status : Answered
Chosen Option : 2

Marks : 0
Q.3 is formed when two walls meet each other at an angle other than a right angle without forming a quoin.
Ans 1. Squint junction
X 2. L-junction
X 3. Flemish junction
X 4. T-junction
Question Type : MCQ
Question ID : 630680508117
Option 1 ID : 6306801985767
Option 2 ID : 6306801985766
Option 31D : 6306801985768
Option 4 1D : 6306801985765
Status : Answered
Chosen Option : 1
Marks : 2
Q.4 The magnetic bearing of a line is 45° 24". What will be the true bearing if the magnetic declination is 7° 28" East?
Ans 1. 52052
X 2. 48° 54’
X 3. 51004
X 4. 03223
Question Type : MCQ
Question ID : 630680508135
Option 11D : 6306801985837
Option 2 ID : 6306801985839
Option 31D : 6306801985838
Option 4 ID : 6306801985840
Status : Answered
Chosen Option : 1
Marks : 2




Q5 YWhich of the following is the basic design of a total station?

I. Integrated design

II. Gradual design
Ans % 1. Only I
2. Only I

X 3. Neither I nor IT
X 4. BothIandII

Question Type : MCQ
Question ID : 630680508147
Option 1 ID : 6306801985886
Option 2 ID : 6306801985885
Option 31D : 6306801985888
Option 4 ID : 6306801985887
Status : Answered
Chosen Option : 4
Marks : 0

Q.6 Inthe context of defects in timber which of the following defects are longitudinal separations in the wood between the

annual rings?

Ans X 1. Knots
X 2. Checks
+ 3. Shakes
X 4. Ringgall

Question Type : MCQ
Question ID : 630680508103
Option 11D : 6306801985712
Option 2 ID : 6306801985709
Option 31D : 6306801985710
Option 4 ID : 6306801985711
Status : Answered
Chosen Option: 3
Marks : 2




Q.7 Depending on the cutting process, the veneers are classified into which of the following?
I. Rotary veneers

II. Sliced veneers

Ans X 1. Neither I nor II

X2 OnlyI
X 3. Only IT
+ 4 BothIandII
Question Type : MCQ
Question ID : 630680508157
Option 11D : 6306801985928
Option 2 ID : 6306801985925
Option 31D : 6306801985926
Option 4 ID : 6306801985927
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 Which of the following is the purpose of foundation?
1. To distribute the weight of the structure over large area so as to avoid over-loading of the soil beneath
II. To provide a undulating surface for building operations
Ans X 1. Only II
< 2. BothIandII
X 3. Neither I nor II
4 OnlyI
Question Type : MCQ
Question ID : 630680508113
Option 1 ID : 6306801985750
Option 2 ID : 6306801985751
Option 3 ID : 6306801985752
Option 4 ID : 6306801985749
Status : Answered
Chosen Option : 4
Marks : 2
Q9 The polar axis of the earth is shorter than the equatorial axis by
Ans X1 45 km
X 2. 30,65 km
X 3. 30km
4 4295 km
Question Type : MCQ
Question ID : 630680508126
Option 11D : 6306801985804
Option 2 ID : 6306801985802
Option 31D : 6306801985801
Option 4 ID : 6306801985803
Status : Answered
Chosen Option : 4
Marks : 2




Q10 yWhich of the following is type of planes in wood work?

I. Wood jack plane
II. Smoothing plane

III. Rotate plane

Ans % 1. Only IT and III
X 2. Only I'and II
X 3. Only I and III
« 4 I, 1T and III

Question Type : MCQ
Question ID : 630680508155
Option 11D : 6306801985918
Option 2 ID : 6306801985917
Option 31D : 6306801985919
Option 4 ID : 6306801985920
Status : Answered
Chosen Option : 4
Marks : 2
Q11 Which of the following is a part of theodolite?
I. Vertical circular scale
II. Tribach plate
III. Spirit level
Ans X 1. Only IT and III
X 2. Only I and III
X 3. Only Iand II
« 4 I, IT and III
Question Type : MCQ
Question ID : 630680508145
Option 1 ID : 6306801985878
Option 2 ID : 6306801985879
Option 3 ID : 6306801985877
Option 4 1D : 6306801985880
Status : Answered
Chosen Option: 4

Marks :

2




Q12 1 defects of timber, long-horn beetles are also known as

Ans 1. Cerambycidae
X 2. Xestobium
< 3. Ambrosia beetles
X 4. Anobiidae
Question Type : MCQ
Question ID : 630680508151
Option 11D : 6306801985901
Option 2 ID : 6306801985904
Option 3 ID : 6306801985902
Option 4 ID : 6306801985903
Status : Answered
Chosen Option: 3
Marks : 0
Q.13 A is a plumbing fixture that receives human excreta and this material after being flushed by water goes into the

soil pipe via trap.

Ans X' 1. Wash basins
X 2. Urinals
X 3. Kitchen sinks
+ 4. Water closets

Question Type : MCQ
Question ID : 630680508167
Option 11D : 6306801985966
Option 2 ID : 6306801985968
Option 31D : 6306801985965
Option 4 ID : 6306801985967
Status : Answered
Chosen Option : 4
Marks : 2




Q.14

Ans

Which of the following tools are used in plumbing work?

I. Pipe-vice
II. Pipe-wrenches

III. Threading dies
X 1. Only I'and II
X 2. Only IT and III
« 3 L Il and III

X 4. Only I and III

Question Type :
Question ID :

Option 1 ID

Option 3 ID

Marks

McQ
630680508165

: 6306801985957
Option 21D :

6306801985958

: 6306801985960
Option 41D :
Status:

Chosen Option :
12

6306801985959
Answered
3

Q.15 Which of the following statement is correct regarding ‘Shallow foundation’?

Ans

1. Shallow foundation is placed immediately beneath the lowest part of the super structure

II. The object of this type of foundation is to distribute the structural loads over a wide horizontal area at shallow depth

below the ground level

X 1. Neither I nor IT

« 2 BothIand II
X 3 OnlyIT

X 4 OnlyI

Question Type :
: 630680508115
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :
Marks :

Question ID

MCQ

6306801985760
6306801985759
6306801985758
6306801985757
Answered

2

2




Q16 Conductor not covered with any insulating material is known as

Ans X 1. flexible cable
X 2. pendant
X 3. semi-conductor
« 4. bare conductor
Question Type : MCQ
Question ID : 630680508163
Option 11D : 6306801985950
Option 2 ID : 6306801985949
Option 3 ID : 6306801985952
Option 4 ID : 6306801985951
Status : Answered
Chosen Option: 3
Marks : 0
Q17 Which of the following is source of dampness in building?
I. Penetration of rain-water through unprotected tops of walls
II. Inadequate roof slopes, improper rain-water pipe connections
Ans X' 1. Neither I nor II
X 2 Only IT
+ 3 BothIandII
X 4 OnlyI
Question Type : MCQ
Question ID : 630680508121
Option 11D : 6306801985784
Option 2 ID : 6306801985782
Option 3 ID : 6306801985783
Option 4 ID : 6306801985781
Status : Answered
Chosen Option: 3
Marks : 2
Q18 yWhich of the following is NOT a ground water source?
Ans X' 1. Artesian wells
X 2. Shallow wells
« 3. Sea water
X 4. Horizontal galleries
Question Type : MCQ
Question ID : 630680508170
Option 1 ID : 6306801985978
Option 2 ID : 6306801985980
Option 3 ID : 6306801985979
Option 4 ID : 6306801985977
Status : Answered
Chosen Option: 3
Marks : 2




Q19 What is the quadrantal bearing of 210° 30"?

Ans

1. S30°30°W
X2 S31°54W
X3 S9°48'E

X4 N32°36'W

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Status

Chosen Option :
Marks :

McQ
630680508133
6306801985832
6306801985829
6306801985831
6306801985830

1
2

. If the angle of slope of ground is 15°, then what will be otenusal allowance per chain of 20 m length? (where, sec
20 If the angle of slope of ground i h h ill be hvp: 1 all per chain of I I

Ans

15° = 1.035)
X 1. 2.6 link
X2 3.1 link
X3 3.9 link
4 3.5 link

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

: Answered

Status

Chosen Option :
Marks :

MCcQ
630680508131
6306801985822
6306801985824
6306801985823
6306801985821

2
0

Q.21

Ans

In the context of defect in timber,

branch.

X 1. Star shake

« 2. Knots

X 3. Twisted fibres
X 4. End splits

are bases of twigs or branches buried by cambial activity of the mother

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508150
6306801985900
6306801985898
6306801985899
6306801985897
Answered

3

0




Q22 m the glass pane or the glazed shutter is permanently fixed in the opening in the wall.

Ans X 1. Pivoted window
+ 2. Fixed window
X 3. Casement window
X 4. Sliding window
Question Type : MCQ
Question ID : 630680508160
Option 11D : 6306801985937
Option 2 ID : 6306801985938
Option 3 ID : 6306801985940
Option 4 1D : 6306801985939
Status : Answered
Chosen Option : 4
Marks : 0
Q.23 is a relatively permanent point of reference whose elevation with respect to some assumed datum is known.
Ans

X 1. Turning point

+ 2. Bench mark
X 3. Mean sea level

X 4. Intermediate station

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508140
6306801985860
6306801985858
6306801985857
6306801985859
Answered

2

2

Q.24 1n the context of damp-proofing material, which of the following is flexible material?

Ans

+ 1. Plastic sheeting

X 2. Slates
X 3. Cement slurry

X 4. Mastic asphalt

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508122
6306801985788
6306801985787
6306801985786
6306801985785
Answered

4

0




Q.25

Ans

Which of the following is function of Plumping Fork in plane table?

X 1. Orlenting the plane table to magnetic north
X 2. To draw the map
X 3. Use for accurate sighting

« 4. Centering the table over the point or station

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508139
6306801985854
6306801985856
6306801985855
6306801985853
Answered

4

2

Q26 As perIS: 712, which of the following is class A type lime?

Ans

+ 1. Eminently hydraulic lime
X 2. Semi hydraulic lime
X 3. Magnesium lime

X 4. Fat lime

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680508111
6306801985742

: 6306801985741
Option 31D :

6306801985744

: 6306801985743
Status :
Chosen Option :
Marks :

Answered
4
0

Q.27

Ans

Which of the following is a type of dimensions?
I. Size or functional dimensions

II. Datum dimensions
X 1. OnlyI

X 2. Only IT

+ 3. BothIand]II
X 4. Neither I nor IT

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680508100
6306801985697

: 6306801985698
Option 31D :

6306801985699

: 6306801985700
Status :
Chosen Option :
Marks :

Answered
1
0




Q28 which of the following term is NOT related with structure of timber?

Ans X 1. Pith
X 2. Bast
+ 3. Rodents
X 4. Heart wood
Question Type : MCQ
Question ID : 630680508101
Option 11D : 6306801985702
Option 2 ID : 6306801985701
Option 31D : 6306801985704
Option 4 ID : 6306801985703
Status : Answered
Chosen Option: 3
Marks : 2
Q29 Guniting operation is performed by which of the following machine?
Ans % 1. Sprinkler
X 2. Trowel
+ 3. Cement gun
X 4. Plumb bob
Question Type : MCQ
Question ID : 630680508123
Option 1 ID : 6306801985792
Option 2 ID : 6306801985791
Option 3 ID : 6306801985789
Option 4 ID : 6306801985790
Status : Answered
Chosen Option: 3
Marks : 2
Q.30 Which of the following statement is correct regarding magnetic declination?
I. Magnetic declination at a place is the horizontal angle between the true meridian and the magnetic meridian shown by
the needle at the time of observation
II. Magnetic meridian is to the right side of the true meridian, declination is said to be negative
Ans X 1. BothTand II
X 2. Neither I nor IT
X 3. Only IT
4 OnlyI
Question Type : MCQ
Question ID : 630680508134
Option 1 ID : 6306801985835
Option 2 ID : 6306801985836
Option 31D : 6306801985834
Option 4 ID : 6306801985833
Status : Answered
Chosen Option : 2
Marks : 0




Q.31 Inadumpy level, the levelling head consists of two parallel plates the upper plate is known as

plate is known as which can be screwed on to a tripod.

and the lower

Ans X 1. outer cone, trivet
X 2. inner cone, tribrach
& 3. trivet, tribrach
« 4. tribrach, trivet
Question Type : MCQ
Question ID : 630680508141
Option 11D : 6306801985864
Option 21D : 6306801985863
Option 31D : 6306801985862
Option 4 1D : 6306801985861
Status : Answered
Chosen Option : 4
Marks : 2
Q.32 is the one which can read the reading directly by the instrument and through the telescope.

Ans 1. Self-reading staff
X 2. Mirror staff
X 3. Eye-piece staff
X 4. Target staff

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508143
6306801985869
6306801985871
6306801985872
6306801985870
Answered

1

2

Q33 plock boards are also known as

Ans & 1. solid-care plywood
X 2. particle board
X 3. piles veneers plywood

& 4. fibre board

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508104
6306801985713
6306801985714
6306801985716
6306801985715
Answered

4

0




Q.34 The operation of forming or bringing the clear image of the object in the plane of cross-hairs is known as

Ans

X 1. Levelling
X 2. Parallax
X 3. Aberrations

+ 4. Focusing

Question Type : MCQ
Question ID : 630680508144
Option 11D : 6306801985876
Option 2 ID : 6306801985874
Option 31D : 6306801985875
Option 4 ID : 6306801985873
Status : Answered
Chosen Option : 4
Marks : 2
Q.35 Which of the following foundation consists of thick reinforced concrete slab covering the entire area of the bottom of
the structure like a floor?
Ans X 1. Well foundation
X 2. Grillage foundation
+ 3. Raft foundation
X 4. Pile foundation
Question Type : MCQ
Question ID : 630680508116
Option 11D : 6306801985761
Option 2 ID : 6306801985763
Option 3 ID : 6306801985764
Option 4 ID : 6306801985762
Status : Answered
Chosen Option: 3
Marks : 2
Q36 Urinals is available in which of the following type of shapes?
I. Basin type
II. U-type
III. Slab type
Ans % 1. Only I and II
+ 2 Only I and IIT
X 3. Only IT and III
X 4 T, IIand IIT
Question Type : MCQ
Question ID : 630680508168
Option 11D : 6306801985969
Option 2 ID : 6306801985971
Option 31D : 6306801985970
Option 4 ID : 6306801985972
Status : Answered
Chosen Option : 4
Marks : 0




Q.37 Which of the following classification of timber is NOT on the basis of its position?

Ans

X 1. Converted timber
X 2. Rough timber

X 3. Standing timber
« 4 Structural timber

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508102
6306801985707
6306801985706
6306801985705
6306801985708
Answered

3

0

Q.38 Permissible compressive stress in brick masonry is NOT depend upon which of the following factor?

Ans

X 1. Type and strength of brick

« 2. Foundation type

X 3. Mix of mortar

X 4. Size and shape of masonry construction

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508119
6306801985773
6306801985776
6306801985774
6306801985775
Answered

2

2

Q.39

Ans

is a tangent arc drawn between two lines to create a round corner.

X 1. Copy

X 2. Mirror
X 3. Rotate
+ 4. Fillets

Question Type :

Question ID :
: 6306801985732
Option 21D :
: 6306801985730
Option 41D :

Option 1 ID

Option 3 ID

Status

MCQ
630680508108

6306801985731

6306801985729

: Answered
Chosen Option :
Marks :

4
2




Q.40 When the distance between the point and the instrument station is either too large or cannot be measured accurately due
to some field conditions, then we use which of the following method of plane table survey?

Ans 1. Intersection method
« 2. Radiation method

X 3. Traversing method

& 4. Resection method

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508137
6306801985846
6306801985845
6306801985848
6306801985847
Answered

1

2

Q.41 Inthe context of paint,
has been applied.

Ans X' 1. Vehicle
« 2. Solvent
X 3. Pigments

& 4. Drier

is a liquid which thins the consistency of the paint and evaporates after the paint films

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508120
6306801985779
6306801985777
6306801985780
6306801985778
Answered

2

2

Q42 WWhich of the following statement is correct regarding ‘Invar tape’?

I. Invar tapes are used for very high degree of precision

II. The Invar tape is made of alloy of copper and steel
Ans @1 Only T
X 2 Only IT

X 3. BothIandII
& 4. Neither I nor II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508129
6306801985813
6306801985814
6306801985815
6306801985816
Answered

1

2




Q.43

is the residue from the combustion of pulverized coal collected by mechanical or electrostatic separators from
the flue gases or power plants.

Ans 1 Fly ash
X 2. Stone ware
< 3. Porcelain
X 4. Terracotta
Question Type : MCQ
Question ID : 630680508112
Option 11D : 6306801985745
Option 2 ID : 6306801985746
Option 31D : 6306801985747
Option 4 ID : 6306801985748
Status : Answered
Chosen Option: 1
Marks : 2
Q.44 is the process of turning the telescope over its supporting axis through 180° in vertical plane.
Ans X 1. Levelling
« 2. Transiting
X 3. Focusing
X 4. Swinging
Question Type : MCQ
Question ID : 630680508146
Option 11D : 6306801985881
Option 2 ID : 6306801985883
Option 31D : 6306801985882
Option 4 ID : 6306801985884
Status : Answered
Chosen Option : 2
Marks : 2
Q.45 Which of the following statement is correct regarding Marking Gauges in carpentry work?
1. Marking gauge is a tool used to mark lines to the edge of a wooden piece
II. Marking gauge consists of a square wooden stem with a sliding wooden stem with a sliding wooden stock on it
Ans

X 1. Neither I nor IT
+ 2. BothIand]II
X3 OnlyI

X 4 Only IT

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Chosen Option :
Marks :

MCQ
630680508153
6306801985912
6306801985911
6306801985909
6306801985910

. Answered

2
2




Q.46 In the context of defect in timber,
+ 1. Heart shake
X 2. Cup shake

X 3. Rind gall

X 4. Star shake

Ans

occurs due to shrinkage of heart wood, when tree is overmatured.

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

630680508149
6306801985893
6306801985894
6306801985896
6306801985895
Answered

1

2

Q.47 A wood panel glued under pressure from an odd number of layers of veneers is known as

Ans X 1. fibre board
« 2. plywood
X 3. particle boards
X 4. hard board

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801985930

Option 41D :
Status:

Chosen Option :
Marks :

Option 3 ID

McQ
630680508158
6306801985932
6306801985929

6306801985931
Answered

2

2

Q.48

tasks using an internal micro-processor.

X 1. EDM

X 2. Dumpy level
X 3. Auto level
+ 4. Total station

Ans

is an equipment that can electronically measure both angles and distance and perform limited computational

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801985889

Option 41D :
Status:

Chosen Option :
Marks :

Option 3 ID

McQ
630680508148
6306801985891
6306801985892

6306801985890
Answered

1

0




Q.49

Ans

Match of the following lines type to its correct representation.

Line type

Representation

I |Long-break line

II | Centre lines

III | Cutting-plane line

1 13,112, TII-1
X 2. I-3, -1, III-2
X 3. I-1, II-2, III-3
X 4 I-1,T-3, III-2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508099
6306801985696
6306801985695
6306801985694
6306801985693
Answered

3

0

Q.50 Which of the following is an error due to manipulation and sighting in plane table survey?

Ans

I. Defective sighting

II. Movement of board between sights

+ 1. Both I and II
X 2. Neither I nor II
X3 OnlyI

X 4 Only IT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508138
6306801985851
6306801985852
6306801985849
6306801985850
Answered

1

2




Q.51

Direct ranging is done in which of the following case?

Ans % 1. Both the ends of the survey line are not intervisible
+ 2. Two ends of the survey lines are intervisible
X 3. The three point of any survey lines must be intervisible
< 4. Local attraction is zero
Question Type : MCQ
Question ID : 630680508130
Option 11D : 6306801985819
Option 2 ID : 6306801985818
Option 31D : 6306801985817
Option 41D : 6306801985820
Status : Answered
Chosen Option : 2
Marks : 2
Q52 Nfatch of the following rocks to its correct examples.
Type Example
I | Argillaceous | 1 | Dolomite
IT | Silicious 2 | Laterite
III | Calcarious 3 | Gneiss
Ans X 1. 1-3,1I-1, III-2
X 2. I-1, 1I-3, III-2
X3 I-2,1I-1, III-3
4 1.2, II-3, I1I-1
Question Type : MCQ
Question ID : 630680508109
Option 11D : 6306801985734
Option 21D ; 6306801985733
Option 31D : 6306801985735
Option 4 ID : 6306801985736
Status : Answered
Chosen Option : 4
Marks : 2




Q.53
Ans

is a type of projection in which three dimensions of a solid can be represented in one view in its actual size.
« 1. Isometric projection

X 2. Oblique projection

X 3. Orthographic projection

X 4. Perspective projection

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508098
6306801985690
6306801985691
6306801985689
6306801985692
Answered

4

0

Q.54 Which of the following statement is correct regarding DPC (damp proof course) in building?
I. The DPC should cover full thickness of wall excluding rendering

II. A 25 to 50 mm thick layer of cement concrete M15 (1: 2: 4) used as DPC

Ans 1. BothIand II
X 2. Neither I nor II
X3 OnlyI
X 4 Only I
Question Type : MCQ
Question ID : 630680508124
Option 11D : 6306801985795
Option 2 ID : 6306801985796
Option 31D : 6306801985793
Option 4 ID : 6306801985794
Status : Answered
Chosen Option: 1
Marks : 2
Q55 A made up of wood or rubber is like a hammer used to drive the chisel with considerable force.
Ans X 1. Claw hammer
X 2. Screw driver
+ 3. Mallet
X 4. Pincer
Question Type : MCQ
Question ID : 630680508156
Option 11D : 6306801985923
Option 2 ID : 6306801985924
Option 3 ID : 6306801985921
Option 4 ID : 6306801985922
Status : Answered
Chosen Option : 1
Marks : 0




Q56 \Which type of joint is shown in the given figure?

Ans 1. Socket joint
X 2. Flanged joint
X 3. Expansion joint

X 4. Collar joint

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508166
6306801985961
6306801985963
6306801985962
6306801985964
Answered

1

2

Q.57 In which of the following method of levelling the difference in elevation between two points is proportional to the

difference in atmospheric pressures at these points?

Ans X 1. Trigonometric levelling

+ 2. Barometric levelling
X 3. Spirit levelling

X 4. Reversible levelling

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508142
6306801985866
6306801985867
6306801985865
6306801985868
Answered

2

2




Q.58 Which of the following statement is correct regarding water meter?

I. Water meters are connected after the stop cock to measure the quantity of water supplied to a premises

II. Inferential meter is a type of water meter

Ans X 1. Neither I nor II
X2 OnlyI
+ 3 BothIandII
X 4 Only IT
Question Type : MCQ
Question ID : 630680508169
Option 11D : 6306801985976
Option 2 ID : 6306801985973
Option 31D : 6306801985975
Option 4 ID : 6306801985974
Status : Answered
Chosen Option : 4
Marks : 0
Q.59 The maximum load per unit area at which the soil can carry without yielding or displacement is termed as the
Ans 1. Bearing capacity of soil
X 2. Shear strength of soil
X 3. Porosity of soil
X 4. Unit weight of soil
Question Type : MCQ
Question ID : 630680508114
Option 11D : 6306801985754
Option 2 ID : 6306801985753
Option 31D : 6306801985756
Option 4 ID : 6306801985755
Status : Answered
Chosen Option : 1
Marks : 2

Q.60 Which of the following surveying classification based on the object of survey?

Ans

X 1. Cadastral survey
X 2. Plane table survey
X 3. Topographical survey

« 4. Mine survey

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508125
6306801985798
6306801985800
6306801985797
6306801985799
Answered

2

0




Q.61 Which of the following statement is correct regarding Geodetic surveying?

Ans

L In Geodetic surveying shape of the earth is not taken into account

II. In Geodetic surveying all lines lving in the surface are curved lines and the triangles are spherical triangles

X 1. Both I and II
X2 OnlyI

3 Only II
X 4. Neither I nor IT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508127
6306801985807
6306801985805
6306801985806
6306801985808
Answered

3

2

Q.62 In the context of carpentry tool,

Ans

surface.

X 1. Mortise gauge
X 2. Compass

« 3. Try-square

X 4. Marking knife

is used for marking and testing the straightness and squareness of planed

Question Type :

Question ID :
: 6306801985914
Option 21D :
: 6306801985913
Option 41D :
: Answered
Chosen Option :
:0

Option 1 ID

Option 3 ID

Status

Marks

McQ
630680508154

6306801985915

6306801985916

1

Q63 Which of the following statement is correct regarding plane table survey?

Ans

I. Plane table survey is the graphical method of survey

II. Alidade is used in plane table survey for leveling purpose
« 1. Only I

X 2 Only I

X 3. Neither I nor IT

X 4 BothIand II

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508136
6306801985841
6306801985842
6306801985844
6306801985843
Answered

3

0




Q.64 In system, the conduits are embedded into the walls and ceiling, with the plaster at the time of construction.

Ans

« 1. Concealed wiring

X 2. Flexible conduit wiring

X 3. Metal wiring

X 4. Surface conduit wiring

Question Type :
Question ID :
Option 11D :

: 6306801985955

Option 31D :

Option 2 ID

Option 4 ID

McQ
630680508164
6306801985953

6306801985956

: 6306801985954
Status:
Chosen Option :
Marks :

Answered
2
0

Q.65 In the context of CAD design,

X 1. Gravity field effect

Ans

X 2. Plotter

« 3. Directional constraint

X 4. Digitizer

is used to draw horizontal or vertical lines.

Question Type

Option 3 ID

: MCQ
Question ID :
Option 11D :
Option 21D :

630680508106
6306801985721
6306801985722

: 6306801985724
Option 41D :
Status:

Chosen Option :
Marks :

6306801985723
Answered

2

0

Q.66

Ans

Which of the following statement is correct regarding switch?

1. A switch is used to make or break the electric circuit

IT. A switch is used for earthing purpose also

& 1. Neither I nor II
X< 2 BothIandII
X 3. Only IT

« 4 Only I

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

14

Marks :

Chosen Option

McQ
630680508161
6306801985944
6306801985943
6306801985942
6306801985941
Answered

2




Q.67 The quantum of impurities removal in sedimentation tank depends on which of the following factors?

I. Velocity of flow
II. Surface overflow rate

III. Detention period

Ans X 1. Only I and II
X 2. Only I and III
« 3 L IIand III
X 4. Only IT and III

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508172
6306801985985
6306801985987
6306801985988
6306801985986
Answered

3

2

Q68 Computer aided drafting can be categorised into which of the following?

I. The workstation

II. PC based system
Ans X 1. OnlyI
+ 2 BothIand]II
X 3 Only I
X 4. Neither I nor IT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508105
6306801985717
6306801985719
6306801985718
6306801985720
Answered

2

2




Q6% Which of the following is a type of door?

I. Swing doors

IT. Collapsible steel doors

III1. Flush doors

Ans  p1. 1,11 and III
X 2. Only IT and III
X 3. Only Iand II
X 4. Only I and III
Question Type : MCQ
Question ID : 630680508159
Option 11D : 6306801985936
Option 2 ID : 6306801985934
Option 3 ID : 6306801985933
Option 4 ID : 6306801985935
Status : Answered
Chosen Option : 1
Marks : 2
Q70 Which of the following is a chemical treatment process of water?
Ans X 1. Straining and screening
X 2. Sedimentation
+ 3. Coagulation
X 4. Filtration
Question Type : MCQ
Question ID : 630680508171
Option 11D : 6306801985981
Option 2 ID : 6306801985984
Option 3 1D : 6306801985983
Option 4 ID : 6306801985982
Status : Answered
Chosen Option: 3

Marks

32




Q.71

attractive forces.

through a point is the direction shown by a freely floating and balanced magnetic needle free from all other

Ans X 1. True meridian
X 2. Arbitrary meridian
« 3. Magnetic meridian
X 4. Compass meridian
Question Type : MCQ
Question ID : 630680508132
Option 11D : 6306801985825
Option 2 ID : 6306801985827
Option 3 ID : 6306801985826
Option 4 ID : 6306801985828
Status : Answered
Chosen Option: 1
Marks : 0
Q72 YWhich of the following tools are used in brick masonry?
I. Trowel
II. Mason’s square
Ans X 1. Only I
X 2. Neither I nor IT
X3 OnlyI
+ 4 BothIandII
Question Type : MCQ
Question ID : 630680508118
Option 11D : 6306801985770
Option 2 ID : 6306801985772
Option 3 ID : 6306801985769
Option 4 ID : 6306801985771
Status : Answered
Chosen Option : 4
Marks : 2
Q.73 is a series of dimension lines starting at the same extension line that measures successive linear dimension.
Ans X 1. Chain dimensioning
X 2. Redraw dimensioning
X 3. Point dimensioning
+ 4. Datum line dimensioning
Question Type : MCQ
Question ID : 630680508107
Option 11D : 6306801985725
Option 2 ID : 6306801985727
Option 3 ID : 6306801985728
Option 4 ID : 6306801985726
Status : Answered
Chosen Option: 1
Marks : 0




Q.74

Ans

Which of the following instrument is NOT used in chaining?

X 1. Ranging rods
+ 2. Alidade

X 3. Arrows

X 4. Offset rods

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508128
6306801985810
6306801985812
6306801985809
6306801985811
Answered

2

2

Q.75 Fungi that attack growing trees and continue to damage it in structures are known as

Ans

« 1. Soft rot
X 2. Dry rot
X 3. Rodents
X 4. Wet rot

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508152
6306801985906
6306801985905
6306801985908
6306801985907
Answered

3

0

Section : English/Marathi/General Knowledge/Reasoning Test

Q.76 @reiieT rear=n FaTTAT 2reg siiesar.

Ans

‘SfeTey’
o 1. fius
X 2. aifa
X 3.a8
X 4. =i

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508180
6306801986018
6306801986019
6306801986017
6306801986020
Answered

4

0




Q.77 @refie IR TR i

Ans X 1. srmeff arr

X 2. et arery
o 3. Tohareft arery
X 4. faeeft arery
Question Type : MCQ
Question ID : 630680508182
Option 1 ID : 6306801986025
Option 2 ID : 6306801986027
Option 3 ID : 6306801986026
Option 4 ID : 6306801986028
Status : Answered
Chosen Option: 3
Marks : 2
Q.78 The Western Hoolock Gibbon is found in which state of India?
Ans X 1. West Bengal
/< 2. Chhattisgarh
" 3. Assam
X 4. Kerala
Question Type : MCQ
Question ID : 630680508189
Option 1 ID : 6306801986053
Option 2 ID : 6306801986056
Option 3 ID : 6306801986054
Option 4 ID : 6306801986055
Status : Answered
Chosen Option: 3
Marks : 2
Q.79 How many numbers are there in the given series that are immediately preceded and
followed by a symbol?
4%9@2%8@0!3"6*95!6"31%
Ans X 1.4
2.7
X 3.6
X 45
Question Type : MCQ
Question ID : 630680508192
Option 11D : 6306801986066
Option 2 ID : 6306801986068
Option 31D : 6306801986067
Option 4 ID : 6306801986065
Status : Answered
Chosen Option : 2
Marks : 2




Q.80 Who is known as the Grand Old Man of India?

Ans X 1.Bhulabhai Desai

X 2. Dr Rajendra Prasad
#< 3. Bankim Chandra Chattopadhyay

4" 4. Dadabhai Naoroji

Question Type : MCQ
Question ID : 630680508187
Option 1 ID : 6306801986047
Option 2 ID : 6306801986045
Option 31D : 6306801986046
Option 4 ID : 6306801986048
Status : Answered
Chosen Option : 4
Marks : 2
Q.81 In aclass, Subham ranks 18th from the top. Saloni ranks 23rd from the bottom. There are
35 students whose ranks are in between Subham's and Saloni's. Find the total number of
students in the class.
Ans X 1.75
K 2.73
" 3.76
X 4.74
Question Type : MCQ
Question ID : 630680508191
Option 11D : 6306801986061
Option 2 ID : 6306801986062
Option 3 1D : 6306801986064
Option 4 1D : 6306801986063
Status : Answered
Chosen Option: 3
Marks : 2
Q.82 @refie ereaTa 31 siear.
:m'
Ans X 1.391g
o 2. ThiT
X 3,39
X 4.39q
Question Type : MCQ
Question ID : 630680508179
Option 1 ID : 6306801986015
Option 2 ID : 6306801986014
Option 3 1D : 6306801986016
Option 4 1D : 6306801986013
Status : Answered
Chosen Option : 2
Marks : 2




Q.83 Delhi CM Arvind Kejriwal Unveils 15-Point Winter Action Plan to combat what type of
pollution?

Ans X 1. Water
X 2. Noise
o 3. Air

X 4. Soil Pollution

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508186
6306801986043
6306801986042
6306801986041
6306801986044
Answered

3

2

Q.84 @reie areRTaRTET Ay 31 siteaEr.
‘grarsar 3ot

X 1. 9d <o &ot

2 2. ¥gelt ot

X 3. e weor

o 4. Qi MeEET TR giot

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

MCcQ
630680508184
6306801986034
6306801986036
6306801986033
6306801986035

: Answered
Chosen Option :
Marks :

4
2

Q.85 @reiie wguft=m gt 3ref e,
‘ITg gt a9 @l araldn geet a8 @rdl’

o 1. T A0S foRelEY SR et ¥ |t grear wed el

X 2. g AU gl dhet A mafden Hiet g el

X 3. TR [T heTesdTuT dTed STl

X 4. udeprer @yg A= srdl. S o faas < @yg

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508183
6306801986029
6306801986031
6306801986032
6306801986030
Answered

1

2




Q.86 Choose the option which are antonyms (opposite of) the word bracketed in the sentence

given below:

Everyone in the room was taken aback by his (audacious) actions.

Ans  # 1. Cautious
X 2. Asinine
X 3.Resolute
X 4. Composite

Question Type : MCQ
Question ID : 630680508173
Option 1 ID : 6306801985990
Option 2 ID : 6306801985992
Option 31D : 6306801985991
Option 4 ID : 6306801985989
Status : Answered
Chosen Option : 2
Marks : 0
Q.87 Choose the option which are synonyms (similar to) the word bracketed in the sentence
given below:
The politician's (ubiquitous) presence during the campaign impressed many voters.
Ans X 1.Aggressive
X 2. Ornery
¥ 3. Pervasive
< 4. Combative
Question Type : MCQ
Question ID : 630680508177
Option 1 ID : 6306801986005
Option 2 ID : 6306801986008
Option 3 ID : 6306801986007
Option 4 ID : 6306801986006
Status : Answered
Chosen Option: 3
Marks : 2
Q.88 wrefier ersgra faseareff oreg; sitesr.
iGe:d
Ans X 1.0
X 2. TSR
X 3. Tt
W 4. @
Question Type : MCQ
Question ID : 630680508181
Option 11D : 6306801986021
Option 2 ID : 6306801986022
Option 31D : 6306801986023
Option 4 ID : 6306801986024
Status : Answered
Chosen Option : 4

Marks :

2




Q.89 Choose the option which are antonyms (opposite of) the word bracketed in the sentence

Ans

given below:

The manager's (cursory) inspection failed to identify the underlying issue.
X 1. Hasty
" 2. Careful

X 3. Brief
X 4. Superficial

Option 2 ID

Option 4 ID

Question Type :
Question ID :
Option 11D :

: 6306801986011

Option 31D :

: 6306801986012

Status :

Chosen Option :

Marks :

McQ
630680508178
6306801986009

6306801986010
Answered

1
0

Q.90 Two statements are given, followed by two conclusions numbered I, and Il. Assuming the

statements to be true, even if they seem to be at variance with commonly known facts,
decide which of the conclusions logically follow(s) from the statements.

Statements:
|. Some students are athletes.
1. Some athletes are scholars.

Conclusions:
I. Some scholars are students.
1. Some students are not athletes..

Ans X 1.0nly conclusion Il follows
X 2. Both conclusions | and Il follow
25 3. 0nly conclusion | follows
«# 4. Neither conclusion | nor Il follows
Question Type : MCQ
Question ID : 630680508195
Option 1 ID : 6306801986078
Option 2 ID : 6306801986079
Option 3 ID : 6306801986077
Option 4 ID : 6306801986080
Status : Answered
Chosen Option : 4
Marks : 2
Q.91 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the odd letter-cluster.
Ans X 1.FL
& 2.DJ
o 3.MT
X 4.8Y
Question Type : MCQ
Question ID : 630680508197
Option 1 ID : 6306801986085
Option 2 ID : 6306801986087
Option 31D : 6306801986086
Option 4 ID : 6306801986088
Status : Answered
Chosen Option: 3
Marks : 2




Q.92 Which is the first nation to successfully land on the Lunar South Pole?
Ans X 1.China

X 2.Russia
" 3. India
X 4.USA
Question Type : MCQ
Question ID : 630680508185
Option 11D : 6306801986039
Option 2 ID : 6306801986038
Option 31D : 6306801986037
Option 4 ID : 6306801986040
Status : Answered
Chosen Option: 3
Marks : 2
Q.93 Hindi Diwas is celebrated on which date?
Ans X 1.14 November
< 2.14 October
" 3. 14 September
X 4.14 January
Question Type : MCQ
Question ID : 630680508188
Option 11D : 6306801986051
Option 2 ID : 6306801986052
Option 31D : 6306801986050
Option 4 ID : 6306801986049
Status : Answered
Chosen Option: 3
Marks : 2
Q.94 Who is the head to aid and advisor of the President?
Ans X 1. Chief Minister
" 2. Prime Minister
25 3. Governor
X 4. Vice President
Question Type : MCQ
Question ID : 630680508190
Option 11D : 6306801986059
Option 2 ID : 6306801986057
Option 31D : 6306801986060
Option 4 ID : 6306801986058
Status : Answered
Chosen Option : 4
Marks : 0




Q.95 Choose the option which are synonyms (similar to) the word bracketed in the sentence
given below:

But he still hadn't lost his (ebullient), blaring voice or that sparkle in his blue eyes.

Ans X 1.Stoic
«” 2. Vivacious
#< 3.Reserved

< 4. Melancholic

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508174
6306801985994
6306801985996
6306801985993
6306801985995
Answered

1

0

Q.96 Choose the option which are antonyms (opposite of) the word bracketed in the sentence

given below:

The (vehement) protest stirred discussions among the political circles

Ans X 1.Fervent

X 2. Passionate

" 3. Subdued
X 4. Intense
Question Type : MCQ
Question ID : 630680508175
Option 11D : 6306801986000
Option 2 ID : 6306801985999
Option 31D : 6306801985998
Option 4 ID : 6306801985997
Status : Answered
Chosen Option : 2
Marks : 0
Q.97 In a certain code language, if BREEZE is coded as CSFFAF, STORM is coded as TUPSN, then
what will HURRICANE be coded as?
Ans «" 1. IVSSJDBOF
X 2.IVSSJDOBF
< 3.1VSSDJBOF
/X 4.1VSJSDBOF
Question Type : MCQ
Question ID : 630680508193
Option 1 ID : 6306801986069
Option 2 ID : 6306801986071
Option 31D : 6306801986070
Option 4 ID : 6306801986072
Status : Answered

Chosen Option :
Marks :

1
2




Q.98 Select the option that is related to the third word in the same way as the second word is
related to the first word.

Apiculture : Honeybee :: Felinology : ?
Ans X 1. Lizards

X 2. Snails
” 3. Cats

X 4.Dogs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508196
6306801986084
6306801986081
6306801986083
6306801986082
Answered

2

0

Q.99 Choose the option which are antonyms (opposite of) the word bracketed in the sentence
given below:

After receiving the good news, she felt (ecstatic).
Ans  # 1. Apathetic
X 2. Delerious
/5 3. Blissful
< 4. Rapturous

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680508176
6306801986001
6306801986003
6306801986002
6306801986004
Answered

4

0

Q.100 Pointing to a girl, a man says, "She is the daughter of my father's only daughter." How is the
girl related to the man?

Ans X 1. Mother
& 2. Sister's daughter
25 3. Husband's sister
X 4. Wife

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680508194
6306801986075
6306801986073
6306801986074
6306801986076
Answered

2

2
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Q1 What is name of tool in given figure, which is used in plastering work?

Ans X 1.Trowels
X 2. Piump bob
X 3. Wooden channel
o 4 Wooden float
Question Type : MCQ
Question ID : 630680507813
Option 1 1D : 6306801984551
Option 2 1D : 6306801984552
Option 3 1D : 6306801984549
Option 4 1D : 6306801984550
Status : Answered
Chosen Option : 1
Marks : 0
Q2 wWhich type of defect is shown in the given figure?
Ans X 1.Cup shake
X 2. Twisted fibers
4
X 4. Heart shake
Question Type : MCQ
Question 1D : 630680507798
Option 1 1D : 6306801984491
Option 2 1D : 6306801984492
Option 3 ID : 6306801984489
Option 4 1D : 6306801984490
Status : Answered
Chosen Option :© 1
Marks : 0




Q.3 If the conductors are wrapped around one conductor in a definite order, conductor is

known as

Ans X 1_minimum fusing conductor
X 2. standard conductor
" 3. straneied condlsct

X 4. short circuit conductor

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :

1 6306801984728

Status :

L3

Option 4 ID

Chosen Option

Marks :

McaQ
630680507857
6306801984727
6306801984725
6306801984726

Answered

2

Q.4 Hardness in water is caused by which of the following cations?
A" X1 cO¥ and Na” ions

X2 CI”and SO ions

¥ Ca®" and Mgz”' ions

X 4 Na” and Mg ions

Question Type :
: 630680507863
Option 11D :
Option 21D :
Option 31D :
1 6306801984749
Status :
:3

Question ID

Option 4 ID

Chosen Option

Marks :

mMca

6306801984752
6306801984750
6306801984751

Answered

2




Q.5 For the Assertion (A) and Reason (R) given below, choose the correct alternative.

Assertion (A): Fibre boards are built up of felting from wood or vegetable.
Reason (R): Fibre boards can be used for ceiling cladding.

Ans X 1.Both AandRis true, and R is the correct explanation of A.
X 2.Ais false but R is true.
/X 3. Ais true but R is false.

+” 4. Both Aand R is true, and R is ol the el explanalio

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 ID

Option 4 1D :

Status :
2
Marks :

Chosen Option

Mca
630680507852
6306801984705
6306801984708

: 6306801984707

6306801984706
Answered

1]

Q.6 Which of the following is example of silicious rocks?
Ans X 1. Marble

X 3. Laterite

< 4. Dolomite

Question Type :
: 630680507803

Question ID

Option 11D :

Option 2 ID

Option 4 ID

Mca

6306801984512

: 6306801984511
Option 31D :

6306801984510

: 6306801984509
Status :
Chosen Option :
Marks :

Answered
a
0




Q.7 Which of the following is a method of damp-proofing in building?

l. Integral damp-proofing
Il. Cavity wall construction

Ans X 1.0nlyll
X 2. Neither | nor Il
V 2. B _"-" and |l
X 4.Onlyl
Question Type : MCQ
Question ID : 630680507818
Option 11D : 6306801984570
Option 2 1D : 6306801984572
Option 3 ID : 6306801984571
Option 4 1D : 6306801984569
Status : Answered
Chosen Option : 3
Marks : 2
Q.8 Which of the following type of flooring is used for decorative and it have good wearing
properties?
Ans
X 2. Granolithic fiooring
2< 3. Mud flooring
& 4. Muram flooring ;\\OQ
@
\}(\
A'\\S Question Type : MCQ
&) Question ID : 630680507816
Option 11D : 6306801984562
Option 2 1D : 6306801984561
Option 3 1D : 6306801984564
Option 4 1D : 6306801984563
Status : Answered
Chosen Option : 1
Marks : 2
Q.9 Which of the following is NOT a type of ablution fittings in sanitary?
Ans X 1.Baths
&2
25 3. Flushing cisterns
K 4. Wash basin
Question Type : MCQ
Question ID : 630680507862
Option 1 1D : 6306801984747
Option 2 ID : 6306801984748
Option 3 1D : 6306801984745
Option 4 1D : 6306801984746
Status : Answered
Chosen Option : 1
Marks : 0




Q.10 Isometric projection is a type of projection in which of a solid can be
represented in one view in its actual size.

Ans X 1.oblique dimensions

« 2 \hree
X 3. one dimension

X 4. two dimensions

Question Type : MCQ
Question ID : 630680507792
Option 1 1D : 6306801984468
Option 2 1D : 6306801984465
Option 3 1D : 6306801984467
Option 4 ID : 6306801984466
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 Which of the following is the cause of failure of foundation?
I. Horizontal movement of the soil adjoining the structure
Il. Action of atmosphere
Ans X 1.Onlyll
X 2. Neither | nor |l
< 3.Only|
> ;
) §§ Question Type : MCQ
@) Question 1D - 630680507808
Option 11D : 6306801984530
Option 2 1D : 6306801984532
Option 3 1D : 6306801984529
Option 4 ID : 6306801984531
Status : Answered
Chosen Option : 4
Marks : 2
Q.12 If whole circle bearing of a line lies between the 180° and 270°, what will be the
quadrant of line?
Ans X 1.NE
X 2.8E
o35
X 4. NW
Question Type : MCQ
Question 1D : 630680507828
Option 11D : 6306801984609
Option 2 ID : 6306801984610
Option 3 1D : 6306801984611
Option 4 1D : 6306801984612
Status : Answered
Chosen Option : 3
Marks : 2




Q.13 In the context of AutoCAD, fillets is a tangent arc drawn between two lines to create a

Ans X 1.V-comner
X 2. Right angle corner
« 3
X 4. T-corner

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :

: 6306801984500

Status :

Chosen Option :

Marks :

Option 4 ID

McQ
630680507800
6306801984499
6306801984498
6306801984497

Answered
3
2

Q.14 If the angle of slope of ground is 12°, what will be the hypotenusal allowance per chain

of 20 m length?( where, sec 12° = 1.0223)
Ans
X 2.2.56 link
X 3.4.53 link
X 4.1.13link

Question Type :
: 630680507824
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

Question ID

Mca

6306801984593
6306801984594
6306801984595
6306801984596
Answered

3

0




@15 What is the name of the tool shown in the given figure?

LT

Ans X 1. Mortise gauge
o 2. Marking gauge
X 3. Steel tape
X 4. Try-square
Question Type : MCQ
Question 1D : 630680507843
Option 11D : 6306801984669
Option 2 1D : 6306801984670
Option 3 1D : 6306801984672
Option 4 ID : 6306801984671
Status : Answered
Chosen Option : 4
Marks : 0
Q.16 Which of the following is NOT the method to draw a line in CAD?
Ans X 1_Absolute co-ordinates
o _ )
¢_ iorizonital co-oedinales (‘)\\'
X 3. Polar co-ordinates ‘\3\}
X 4. Relative co-ordinates (}A\
Question Type : MCQ
Question 1D : 630680507802
Option 1 1D : 6306801984505
Option 2 ID : 6306801984508
Option 3 ID : 6306801984507
Option 4 ID : 6306801984506
Status : Answered
Chosen Option : 3
Marks : 0




Q.17 Which of the following method of plane table survey is used when distance between

the point and the instrument station is either too large or cannot be measured

accurately due to some field conditions?
Ans X 1. Orientation

v 2 Inters
X 3. Radiation
X 4. Sighting

Question Type :

Question 1D

Option 11D :

Option 2 1D

Option 31D :
Option 4 1D :
Status :

Chosen Option

Marks :

McQ

1 630680507833
6306801984632
1 6306801984629
6306801984630
6306801984631
Answered

22

2

Q.18 Contour lines of different elevation can intersect only in the case of 5

Ans X 1. valley
X 2. vertical cliff
X 3. plane area

-

Question Type :

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status
Chosen Option

Marks :

McaQ

1 630680507835
6306801984638
6306801984640
6306801984639
6306801984637
: Answered

14

2




Q1% What is the name of carpentry tool shown in the given figure?

1
ﬁl—w_
5 .

Ans
X 2.Saws
X 3.Chisels
X 4. Bar clamp
Question Type : MCQ
Question ID : 630680507845
Option 1 1D : 6306801984677
Option 2 ID : 6306801984679
Option 3 1D : 6306801984678
Option 4 ID : 6306801984680
Status : Answered
Chosen Option : 3
Marks : 0
Q.20 Which of the following tool is used for marking arcs and circle on the planed surface
of the wood?
N
I. Compass ,'\\O
Il. Divider \}é’
Ans X 1.Onlyll .@3
: @)
2
X 3. Neither | nor Il
X 4.0nly|
Question Type : MCQ
Question 1D : 630680507844
Option 11D : 6306801984674
Option 2 1D : 6306801984675
Option 3 ID : 6306801984676
Option 4 1D : 6306801984673
Status : Answered
Chosen Option : 3
Marks : 0




Q.21

Ans

Which of the following type of joint is shown in the given figure?

X 2. Socket joint
X 3.Flanged joint
X 4_Collar joint

Question Type :
: 630680507860
1 6306801984738
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 11D

Mca

6306801984737
6306801984739
6306801984740
Answered

3

0

Q.22

Ans

bottom of the structure like a floor.
4
X 2. Well foundation

X 3. Spread footing
X 4. Pile foundation

consists of thick reinforced concrete slab covering the entire area of the

Question Type :

Question 1D :
1 6306801984526
Option 21D :

Option 1 1D

Option 3 ID

McaQ
630680507807

6306801984528

: 6306801984525
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801984527
Answered

1

2




Q.23 ______ is provided to protect from mechanical injury to the cable.
Ans

X 2.Senving

X 3.Bedding

X 4_Metallic sheath

Question Type :
Question 1D :

Option 1 1D
Option 2 ID
Option 3 1D

Option4 1D :
Status :
Chosen Option :
Marks :

McQ
630680507855

: 6306801984720
: 6306801984717
: 6306801984719

6306801984718
Answered

3

0

Q.24 Which of the following is NOT a type of planes in wood work?

I. Rotate plane
Il. Wood jack plane

Ans X 1.Onlyll
X 2.Bothland I
X 3.0nlyl
& 4 Neither | nor I

Question Type :
: 630680507847

Question ID

Option 11D :
: 6306801984687
Option 31D :
- 6306801984688

Status :
Chosen Option :

Marks :

Option 2 ID

Option 4 ID

Mca

6306801984686

6306801984685

Answered

3
0

Q.25 Transiting is the process of turning the telescope over its supporting axis through

Ans X 1.90" in a horizontal plane
/5 2.180° in a horizontal plane
X 3.90° in a vertical plane
4

Question Type :
: 630680507840
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status -
14

Question ID

Chosen Option

Marks :

Mca

6306801984659
6306801984658
6306801984657
6306801984660
Answered

2




Q.26 Which of the following is the type of flooring?

l. Linoleum flooring
Il. Acid proof flooring
lll. Timber flooring

Ans X 1.Onlyland Ill
X 2. Onlylland Il
X 3.Onlyland Il
J_'- 1.ang 1

Question ID
Option 1 1D

Chosen Option

Question Type :
1 630680507815
: 6306801984559
Option 21D :
Option 31D :
Option4 1D :
Status :
i 4
Marks :

Mca

6306801984558
6306801984557
6306801984560
Answered

2

Q.27 is a thin continuous line which is terminated by arrowheads touching the
outlines, extension line or center lines.

Ans X 1.Open line
X 2. Leader
V3.0

&
X 4. Closed line x>

(@)
N
N

C$ Question Type :
Question 1D :
: 6306801984476
Option 21D :

Option 11D

Option 3 1D

McaQ
630680507794

6306801984473

: 6306801984474
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801984475
Answered

3

2




Q.28 A can be defined as a narrow window of small height provided near the flat
roof of a room.

Ans X 1_sky light
« 2 vanlilator
X 3. gable window
X 4. spring hinges

Option 4 ID

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :

: 6306801984716

Status :

Chosen Option :

Marks :

McaQ
630680507854
6306801984713
6306801984714
6306801984715

Answered
3
0

Q28 Which of the following type of line is there in the given figure?

Ans X 1. Short break line
o 2. Cerite line
X 3. Long break line
X 4. Continuous line C\\OQ

Question ID

Chosen Option

Question Type :
: 630680507793
Option 11D :
Option 21D :
Option 3 1D :
Option 4 1D :

Status :
L2
Marks :

Mca

6306801984470
6306801984469
6306801984471
6306801984472
Answered

2

Q.30 As perlS: 712, which of the following is class C type lime?
Ans X 1.Magnesium lime

o 2. Fatli

X 3. Siliceous dolomitic lime

X 4. Kankar lime

Status

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

mca
630680507804
6306801984514
6306801984515
6306801984516
6306801984513

: Answered
Chosen Option :
Marks :

2
2




Q31 Which of the following type of lap joint is shown in the given figure?

Ans X 1. Tee lap joint
X 2. Corner lap joint

X 3. Plain tenon lap joint
4. Dovetail tap joint

Question Type :
: 630680507849

Question 1D

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :
L3

Chosen Option

Marks :

mMca

6306801984694
6306801984693
6306801984696
6306801984695
Answered

0

Q32
Ans

is used for centering the table over the station in plane table survey.
X 1. Alidade

o 2. Pl
/X 3. Compass N
X 4. Spirit level C\A

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

McQ
630680507830
6306801984617
6306801984620
6306801984618
6306801984619
Answered

1

0




Q.33 Which of the following is NOT a type of door?

l. Swing doors
Il. Flush doors
Ans X 1.0nlyl
X 2.Onlyll
V3 Neiher | ng
XX 4. Both land Il
Question Type : MCQ
Question ID : 630680507851
Option 11D : 6306801984701
Option 2 1D : 6306801984702
Option 3 1D : 6306801984704
Option 4 1D : 6306801984703
Status : Answered
Chosen Option : 1
Marks : 0
Q.34 Which of the following is the method of plane tabling?
I. Traversing
Il. Resection
Ans X 1.0Onlyl
25 3. Neither | nor Il c;\\OQ
X 4.0nlyll 3\§\
D
CJ\
Question Type : MCQ
Question ID : 630680507832
Option 1 1D : 6306801984625
Option 2 1D : 6306801984627
Option 3 1D : 6306801984628
Option 4 1D : 6306801984626
Status : Answered
Chosen Option : 4
Marks : 0




Q.35 In the context of AutoCAD, directional constraint is used to draw
Ans X 1.elipse

X 2 arc

¢ harizantal or vedical

X 4_circle

Question Type : MCQ
Question ID : 630680507799
Option 1 1D : 6306801984494
Option 2 1D : 6306801984496
Option 3 1D : 6306801984495
Option 4 1D : 6306801984493
Status - Answered
Chosen Option : 3
Marks : 2

Q.36 Plaster of Paris is also known as
Ans X 1. magnesium sulphate plaster

X 2. calcium carbonate

75 3. calcium nitrate

J-i alcium sulphate plaster
Question Type : MCQ
y.\\oﬁ\ Question ID : 630680507812
\}(\0 Option 11D : 6306801984548
.@ Option 2 1D : 6306801984545
C}A Option 3 ID : 6306801984547
Option 4 1D : 6306801984546
Status : Answered
Chosen Option : 4
Marks : 2
Q.37 are used for cutting and shaping the wood.
Ans | Chisels
X 2. Auger bit
X 3. Gimlet
X 4. Mallet

Question Type : MCQ
Question ID : 630680507843
Option 11D : 6306801984689
Option 2 1D : 6306801984691
Option 3 ID : 6306801984690
Option 4 1D : 6306801984692
Status : Answered
Chosen Option : 1
Marks : 2




Q.38 Which of the following is NOT the part of theodolite?

l. Spirit level
Il. Vertical circular scale

Ans X 1.Bothland Il

X 2.Onlyll
X 4.Onlyl
Question Type : MCQ
Question ID : 630680507839
Option 11D : 6306801984655
Option 2 1D : 6306801984654
Option 3 1D : 6306801984656
Option 4 1D : 6306801984653
Status : Answered
Chosen Option : 4
Marks: 0
Q.39 Which of the following is NOT the principle of surveying?
l. Location of a point by measurement from points of reference
Il. Working from part to whole
Ans X 1.0nlyl
X 2. Neither | nor Il
@30 6\\0(\
X 4. Both | and Il 3\}(\
D
O\
Question Type : MCQ
Question ID : 630680507820
Option 1 1D : 6306801984577
Option 2 1D : 6306801984580
Option 3 ID : 6306801984578
Option 4 1D : 6306801984579
Status : Answered
Chosen Option : 3
Marks : 2




Q.40 are made incident to the fixing of property lines, the calculation of land area, or

Ans

the transfer of land property from one owner to another.

X 2. Topographical surveys
X 3. Astronomical survey

X 4. City survey

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :

: 6306801984575

Status :

Chosen Option :

Marks :

Option 4 ID

McQ
630680507819
6306801984574
6306801984573
6306801984576

Answered
2
0

Q.41 Which of the following is a constituent of telescope in theodolite?

Ans

I. Diaphragm
Il. Objective

1 Botl
& 2.Only |

< 3. Neither | nor Il

X 4. Only Il )

Question Type :
: 630680507842

Question 1D

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :
Marks :

mca

6306801984667
6306801984665
6306801984668
6306801984666
Answered

1

2

Q.42
Ans

is a longitudinal crack which is usually normal to the annual rings.

4
X 2.Knots

< 3. Rind gall
X 4. Shakes

Question Type :
1 630680507797

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status -
23

Chosen Option

Marks :

Mca

6306801984485
6306801984488
6306801984487
6306801984486
Answered

0




Q.43 operation is performed by cementgun machine.
Ans « 1 sLINITIGG

X 2. Painting
X 3. Growing
X 4_Plastering

Question Type : MCQ
Question ID : 630680507811
Option 1 1D : 6306801984541
Option 2 1D : 6306801984542
Option 3 1D : 6306801984544
Option 4 1D : 6306801984543
Status : Answered
Chosen Option : 1

Marks : 2
Q.44 In the context of chemical composition of raw material of cement, which of the
following is responsible for quick setting?

Ans ) A F8203

X 2 SiO,

v AhO;

X 4 CaO

N
;\\'O
\}(\0 Question Type : MCQ
&\3 Question ID : 630680507806
9 Option 1 1D : 6306801984524

Option 2 ID : 6306801984522
Option 3 1D : 6306801984523
Option 4 1D : 6306801984521
Status : Answered
Chosen Option : 2
Marks : 0




Q.45 Which of the following instrument is used in chaining?

I. Ranging rods
Il. Arrows
Ans X 1.0nlyll
X 2.0nly|
& 3 Both | and |
X 4. Neither | nor 1l
Question Type : MCQ
Question ID : 630680507822
Option 11D : 6306801984586
Option 2 1D : 6306801984585
Option 3 1D : 6306801984587
Option 4 1D : 6306801984588
Status : Answered
Chosen Option : 3
Marks : 2
Q.46 Which of the following statement is correct regarding magnetic meridian?
I. The direction of magnetic meridian can be established with the help of a magnetic
compass
Il. Magnetic meridian through a point is the direction shown by a freely floating needle
Ans
X 2. Only Il Q
;\\O
X 3. Neither | nor Il \}(\Q
X 4.0nlyl ) A%S
O\
Question Type : MCQ
Question ID : 630680507826
Option 1 1D : 6306801984603
Option 2 ID : 6306801984602
Option 3 1D : 6306801984604
Option 4 |1D : 6306801984601
Status : Answered
Chosen Option - 1

Marks :

2




Q.47 Which of the following is the classification of earthing?

l. Equipment earthing
Il. System earthing

Ans X 1.Neither | nor I
X 2.0nly|
« 3 Both | and
X 4. Only Il

Question Type :
Question ID :
Option 11D :
Option 21D :
: 6306801984731

Option 3 ID

Option 4 1D :
Status :

Chosen Option :
Marks :

Mca
630680507858
6306801984732
6306801984729

6306801984730
Answered

3

2

Q.48 The invar tape is made of

Ans X 1.Alloy of carbon and steel
X 2. Alloy of zinc and steel
X 4 Alloy of aluminum and steel

Question Type :
: 630680507823

Question ID

Option 11D :
Option 21D :
Option 31D :
: 6306801984591

Option 4 ID

Status :
Chosen Option :
Marks :

Mca

6306801984592
6306801984589
6306801984590

Answered
a
2

Q.49 In the context of first aid in electricity, back pressure-lift arm method is also known as

Ans X 1.mouth resuscitation
& 2. nose resuscitation

X 4. back resuscitation

Question Type :
: 630680507856

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status -
23

Chosen Option

Marks :

Mca

6306801984722
6306801984723
6306801984721
6306801984724
Answered

2




Q.50 Which of the following is a physical treatment process of water?

Ans X 1. Precipitation
X 2. Adsorption

, 3 Fillration
X 4_Coagulation

Question Type :
: 630680507865

1 6306801984759
: 6306801984757

Question 1D
Option 1 1D
Option 2 1D

Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks :

McQ

6306801984760
6306801984758
Answered

4

0

Q.51 are those which are driven into the ground until a hard stratum is reached.

Ans X 1.Friction piles
X 2. Anchor piles
X 3. Sheet piles

Question Type :
1 630680507809

Question 1D

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

mca

6306801984534
6306801984536
6306801984535
6306801984533
Answered

1

0

Q.52 In the context of paints,

is a clear, pale solution of a resinous substance

dissolved in either oil, turpentine or alcohol.

Ans P 1 Varnist
X 2. Wax polishing
X 3.Glazing
X 4. Distempers

Question Type :
Question ID :
Option 11D :

- 6306801984555

Option 2 1D

Option 31D :
: 6306801984554

Option 4 1D

Status :
Chosen Option :
Marks :

mca
630680507814
6306801984553

6306801984556

Answered

1
2




Q.53 The length of an arc 12 km long lying in the earth’s surface is only greater than
the subtended chord.
Ans
X 2.10cm
X 3.05cm
X 42cm
Question Type : MCQ
Question 1D : 630680507821
Option 1 1D : 6306801984581
Option 2 1D : 6306801984584
Option 3 1D : 6306801984583
Option 4 1D : 6306801984582
Status : Answered
Chosen Option : 2
Marks : 0
Q.54 Urinals are available in which of the following type of shapes?
I. Basin type
Il. Slab type
Ans X 1. Neither | nor Il
& 2.Only |
25 3. Only |l
4 Botl el N
4 RS
@)
\}(\
A'\\S Question Type : MCQ
&) Question 1D : 630680507861
Option 11D : 6306801984744
Option 2 1D : 6306801984741
Option 3 1D : 6306801984742
Option 4 1D : 6306801984743
Status : Answered
Chosen Option : 2
Marks : 0
Q.55 Total station is an equipment that can electronically measure
Ans X 1.only vertical angle and distance
5 2. only horizontal angle and distance
X 3. only distance
V i, Do rEorts | yerlical angle ar Hstanee
Question Type : MCQ
Question 1D : 630680507841
Option 11D : 6306801984662
Option 2 1D : 6306801984661
Option 3 1D : 6306801984664
Option 4 1D : 6306801984663
Status : Answered
Chosen Option : 4
Marks : 2




Q.56 The magnetic bearing of a line is 42°24". What will be the true bearing, if the magnetic
declination is 8°29' East?

Ans X 1.93"2¢'
X 2 48°54'
o 3. 50783
X 4. 75728
Question Type : MCQ
Question ID : 630680507829
Option 1 1D : 6306801984615
Option 2 1D : 6306801984614
Option 3 1D : 6306801984613
Option 4 ID : 6306801984616
Status : Answered
Chosen Option : 3
Marks : 2
Q.57 In the context of AutoCAD, which of the following is graphical output devices?
I. CRT screen
Il. Plotters
Ans X 1. Neither | nor |l
-
25 3.0nly |
X 4. Only Il .\\00
@)
0 -
) A% Question Type : MCQ
@) Question 1D - 630680507801
Option 11D : 6306801984504
Option 2 1D : 6306801984503
Option 3 ID : 6306801984501
Option 4 1D : 6306801984502
Status : Answered
Chosen Option : 3
Marks : 0
Q.58 In the shutters move on roller bearing and can slide either haorizontally or
vertically
Ans X 1.casement window
X 3. pivoted window
X 4. fixed window
Question Type : MCQ
Question ID : 630680507853
Option 11D : 6306801984710
Option 2 ID : 6306801984709
Option 31D : 6306801984712
Option 4 1D : 6306801984711
Status : Answered
Chosen Option : 3
Marks : 0




Q.59 Which of the following is a type of piles in foundation?

l. Fender piles
Il. Consolidation piles
Ans X 1.Bothland Il
X 2.Onlyll
" 3 Only |
X 4. Neither | nor 1l
Question Type : MCQ
Question ID : 630680507810
Option 11D : 6306801984539
Option 2 1D : 6306801984538
Option 3 1D : 6306801984537
Option 4 1D : 6306801984540
Status : Answered
Chosen Option : 4
Marks : 0
Q.60 is a line lying throughout on the surface of the ground and preserving a
constant inclination to the horizontal.
Ans X 1.Valley line
5 2. Contour interval
/< 3. Ridge line
4 N
4 RS
@)
\}(\
A'\\S Question Type : MCQ
&) Question 1D : 630680507837
Option 11D : 6306801984645
Option 2 1D : 6306801984648
Option 3 1D : 6306801984646
Option 4 1D : 6306801984647
Status : Answered
Chosen Option : 4
Marks : 2
Q.61 is the process of providing oxygen from the atmosphere to effect beneficial
changes in raw water.
Ans X 1.Screening
o 2
X 3. Pre-settlement basin
X 4. Pre-chlorination
Question Type : MCQ
Question ID : 630680507866
Option 11D : 6306801984764
Option 2 1D : 6306801984762
Option 31D : 6306801984763
Option 4 1D : 6306801984761
Status : Answered
Chosen Option : 2
Marks : 2




Q.62 Which of the following is the property of fat lime?

l. It contains 100 percent calcium oxide
Il. It is available only in grey colour

Ans X 1.Bothland Il
X 2.Onlyll
< 3.Only |

Option 3 ID

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801984517
Option 4 1D :
Status :

Chosen Option :
Marks :

Mca
630680507805
6306801984519
6306801984518

6306801984520
Answered

1

0

Q.63 The book in which the chain or tape measurements are entered Is called the
Ans ’ 1 3t Ok

X 2. laboratory book
X 3. record book

X 4 work book

3\}(\ Question Type :
1 630680507825

NS Question ID

o Option 11D :
Option 21D :
Option 31D :
: 6306801984600

Status :
Chosen Option :

Marks :

Option 4 ID

Mca

6306801984597
6306801984599
6306801984598

Answered
2
0




Q.64 Which of the following tool is NOT used in plumbing work?

l. Threading dies
Il. Pipe wrenches

Ans X 1.0nlyl

W -
< 3. Only Il
X 4.Bothland Il
Question Type : MCQ
Question ID : 630680507859
Option 11D : 6306801984733
Option 2 1D : 6306801984735
Option 3 1D : 6306801984734
Option 4 1D : 6306801984736
Status : Answered
Chosen Option : 3
Marks : 0
Q.65 What is the quadrantal bearing of 190° 35'?
Ans X 1.N32°56'W
Ve
X 3.N35°558'E
X 4.S35°30'W
N
(’;\\'0
3\}(\ Question Type : MCQ
) §\\ Question ID : 630680507827
o Option 1 1D : 6306801984606
Option 2 1D : 6306801984607
Option 3 1D : 6306801984608
Option 4 ID : 6306801984605
Status : Answered
Chosen Option : 2
Marks : 2
Q.66 Contour lines cross a valley line at
Ans X 1.180° angle
X 2.120° angle
Es
X 4_45° angle
Question Type : MCQ
Question ID : 630680507838
Option 11D : 6306801984649
Option 2 1D : 6306801984652
Option 3 1D : 6306801984650
Option 4 1D : 6306801984651
Status : Answered
Chosen Option : 3
Marks : 2




Q.67 Which of the following is NOT an artificial seasoning of timber?

Ans X 1.Boiling
X 2. Water seasoning

X 3.Kiln seasoning

Question Type : MCQ
Question ID : 630680507796
Option 1 1D : 6306801984482
Option 2 1D : 6306801984481
Option 3 ID : 6306801984483
Option 4 1D : 6306801984484
Status - Answered
Chosen Option : 2
Marks: 0
Q.68 Which of the following term is related with structure of timber?
L. Pith
Il. Heart wood
Ans 11
X 2. Neither | nor Il
X 3.0nlyll
X 4 Onlyl
Question Type : MCQ
Question ID : 630680507795
Option 11D : 6306801984479
Option 2 1D : 6306801984480
Option 3 1D : 6306801984478
Option 4 ID : 6306801984477
Status : Answered
Chosen Option - 1
Marks : 2
Q.69 In the context of damp proofing material, which of the following is NOT a rigid
materials?
Ans X 1.Slates
«f 2. Plaslic sheeting
X 3. First class brick
X 4. Stones
Question Type : MCQ
Question ID : 630680507817
Option 1 1D : 6306801984566
Option 2 1D : 6306801984565
Option 3 1D : 6306801984567
Option 4 1D : 6306801984568
Status - Answered
Chosen Option : 2
Marks : 2




Q.70
Ans

is used for orienting the plane table to magnetic north.
X 1. Drawing paper
& 2N
X 3. Total station

X 4_Telescope
Question Type : MCQ
Question 1D : 630680507831
Option 1 1D : 6306801984621
Option 2 1D : 6306801984622
Option 3 1D : 6306801984624
Option 4 1D : 6306801984623
Status : Answered
Chosen Option : 1
Marks : 0
Q.71 In carpentry work, try squareisused __ .
Ans X 1.for driving screw into the wood
X 2. to bore small holes for starting a screw
#< 3. to make the wood surface smooth or remove sharp edges
«.: g the stramhitness and s
Question Type : MCQ
. \00 Question 1D : 630680507850
\}(\0\ Option 11D : 6306801984700
.\\3 Option 2 ID : 6306801984698
C}A Option 3 ID : 6306801984699
Option 4 1D : 6306801984697
Status : Answered
Chosen Option : 3
Marks : 0
Q.72 For the Assertion (A) and Reason (R) given below, choose the correct alternative.
Assertion (A): Cup shake occur due to shrinkage of heart wood
Reason (R): Rind gall is type of defect in timber
Ans X 1.Ais true but R is false.
X 2 Both Aand R is true, and R is not the correct explanation of A.
X 4_Both Aand R is true, and R is the correct explanation of A
Question Type : MCQ
Question 1D : 630680507846
Option 1 1D : 6306801984683
Option 2 1D : 6306801984682
Option 3 1D : 6306801984684
Option 4 1D : 6306801984681
Status : Answered
Chosen Option : 3
Marks : 2




Q.73 Which of the following statement is correct regarding hardness in water?

I. Hard water is not suitable for bathing, washing and cleaning
Il. Hard water produces heat retarding scales

Ans X 1.Neither | nor I

X 2.0nly|
& 3 Both | and
X 4. Only Il
Question Type : MCQ
Question ID : 630680507864
Option 1 1D : 6306801984756
Option 2 1D : 6306801984753
Option 3 ID : 6306801984755
Option 4 1D : 6306801984754
Status : Answered
Chosen Option : 2
Marks: 0
Q.74 Which of the following is NOT a direct method of contouring?
Ans X 1. Cross-section method
X 3. Tacheometric method
X 4. Vertical control method
)
&
3\}(\ Question Type : MCQ
. §§ Question ID : 630680507836
o Option 1 1D : 6306801984643
Option 2 ID : 6306801984642
Option 3 1D : 6306801984644
Option 4 ID : 6306801984641
Status : Answered
Chosen Option : 3

Marks :

0




Q.75 Which of the following statement is correct regarding back sight in levelling?

I. Back sighting is equivalent to measuring up from the point of known elevation to the

line of sight
Il. Back sight is also known as a plus sight
Ans X 1.Onlyl
X 2. Neither | nor ||
7< 3. Only Il
J 4 Bl
Question Type : MCQ
Question ID : 630680507834
Option 1 1D : 6306801984633
Option 2 1D : 6306801984636
Option 31D : 6306801984634
Option 4 1D : 6306801984635
Status : Answered
Chosen Option : 1
Marks : 0
Section - English/Marathi/General Knowledge/Reasoning Test

Q.76 In the following conversation, identify the antonym (opposite) of the bracketed word:

Person A = This book that | am reading is so (intriguing).
Person B= Really? It doesn't look so.

X 1.engaging
X 2. odd

X 3.long

4

Ans »'\\0(\
@
O
)
D

0\4

Question 1D

Question Type :
: 630680507867
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

Mmca

6306801984765
6306801984767
6306801984766
6306801984768
Answered

1

0




Q.77 Who won the silver medal in Men's javelin throw during the World Athletics

Championship 20237
Ans
X 2. Anderson Peters
X 3.D.PManu
X 4. Neeraj Chopra

Question Type :
Question 1D :
Option 11D :
Option 21D :
Option 31D :

: 6306801984813

Status :

Chosen Option :

Marks :

Option 4 ID

McQ
630680507879
6306801984815
6306801984814
6306801984816

Answered
4
0

Q.78 How many numbers are there in the given series that are immediately preceded by a

symbol and followed by a number?

6°31%49@2%8@0!3°6"95!6@

Ans X 1.2
X 2.4
X35
V.:

Question Type :
: 630680507886

Question ID

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :
Marks :

mca

6306801984842
6306801984844
6306801984843
6306801984841
Answered

4

2




Q.79 Choose the option which is a synonym (similar to) the bracketed word used in the
sentence given below:

The new PM (yearns) to make a difference
X 1.thinks

e
25 3. plans
25 4. accepts

Ans

Option 3 ID

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801984784
Option 4 1D :
Status :

Chosen Option :
Marks :

Mca
630680507871
6306801984782
6306801984781

6306801984783
Answered

3

0

Q.80 In the following conversation, identify the synonym (similar) of the bracketed word:

Person A = | find maths so (intricate).
Person B= Yeah, me too. It is really intricate.

Ans X 1.pleasurable
X 2. calming
X 3.simple

‘f ]

Question ID

Question Type :
: 630680507868
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

Mca

6306801984771
6306801984772
6306801984769
6306801984770
Answered

3

0




Q.81 Freite ares=RE ang el Hiear.
Sfta zimoften wmmer
Ans X 1.+ HE #O!
X 2 gy e awel
o 3 e g
X 4. W FiHTETT

Question Type : MCQ
Question 1D : 630680507878
Option 11D : 6306801984812
Option 2 1D : 6306801984810
Option 3 1D : 6306801984809
Option 4 ID : 6306801984811
Status : Answered
Chosen Option : 3

Marks : 2
-
Q.82 Frefter eregran famarelf 2z st
=’
Ans X 1 fZan
X258
v
X 4.3 )
X
@)
\§\
A%S Question Type : MCQ
C\ Question 1D : 630680507875

Option 1 1D : 6306801984800
Option 2 1D : 6306801984799
Option 3 ID : 6306801984797
Option 4 1D : 6306801984798
Status : Answered
Chosen Option : 3
Marks : 2




Q.83 Five friends Evan, Eric, Ethan, Eddy, and Eli are sitting on a bench facing north. Ethan
is sitting to the immediate right of Eddy. Eli is sitting exactly in between Evan and Eric.
No one sits to the left of Evan. Who sits to the immediate left of Eddy?

Ans X 1.Eli
X 2. Evan
& 3 B
X 4. Ethan
Question Type : MCQ
Question ID : 630680507885
Option 1 1D : 6306801984838
Option 2 ID : 6306801984839
Option 3 1D : 6306801984840
Option 4 1D : 6306801984837
Status : Answered
Chosen Option : 3
Marks : 2
Q.84 Frefivr eregrar warelf 2 i,
IR
Ans x 1.9
X 2. 9%E
X 3.gF=
— N
v O
@)
\}(\
A Question Type : MCQ
D
(@) Question ID : 630680507874
Option 11D : 6306801984794
Option 2 1D : 6306801984795
Option 3 1D : 6306801984793
Option 4 1D : 6306801984796
Status : Answered
Chosen Option : 3
Marks : 0
Q.85 How many members are nominated by the President in the Rajya Sabha?
Ans X 1.238
X 2.250
X 3.10
« 4
Question Type : MCQ
Question ID : 630680507884
Option 11D : 6306801984834
Option 2 ID : 6306801984833
Option 3 1D : 6306801984836
Option 4 ID : 6306801984835
Status : Answered
Chaosen Option : 1
Marks : 0




Q.86 v W@ et "R JREER W96 BUHE Wead da?

Ans

Jl a[Tos HTHT 1cash
72X 2. ST oiorda 3
X 3. gzerae angie
X 4. STETETeTe e

Question Type :

Question ID

Option 11D :

Option 2 ID

Option 31D :

Option 4 1D

Status :
Chosen Option :
Marks :

Mca

. 630680507881
6306801984821
1 6306801984822
6306801984823
: 6306801984824
Answered

3

0

Q.87 wreiter 2regram 3 3ief A

Ans

ST
X 1. fEwpor
X 2. 3Ene
f.
P T

~

Question Type :

Question 1D

Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option

Marks :

McQ

: 630680507873
6306801984789
6306801984790
6306801984791
6306801984792
Answered

;2

0

Q.88 Four letter-clusters have been given, out of which three are alike in some manner and

Ans

one is different. Select the odd letter-cluster.

X 1.JLM
X 3.FHI
X 4 TVW

Question Type :

Question ID

Option 11D :

Option 2 1D
Option 3 ID

Option 4 1D :

Status

Chosen Option :
Marks :

McaQ

1 630680507891
6306801984861
1 6306801984863
: 6306801984864
6306801984862
: Answered

2

2




Q.89 grayyaT A IR BT 3?7

Ans o 1 3Eaet qdeRiT
o 2.5
X 3. femiew
X 4. |TTgEr gdeim
Question Type : MCQ
Question ID : 630680507883
Option 11D : 6306801984831
Option 2 ID : 6306801984829
Option 31D : 6306801984832
Option 4 ID : 6306801984830
Status : Answered
Chosen Option : 3
Marks : 0
Q.90 Groret WreT qHTEGEeA WRATald (Colonial India) it WaidH! v 2rl?
Ans X 1 dfie
X 2.7t
X 3491
V’ 4
) Question Type : MCQ
QY
(\0 Question 1D : 630680507882
.@‘} Option 1 ID : 6306801984826
O\A Option 2 1D : 6306801984828
Option 3 1D : 6306801984827
Option 4 1D : 6306801984825
Status : Answered
Chosen Option : 4
Marks : 2
Q.91 Select the option that is related to the third word in the same way as the second word
is related to the first word.
Humidity : Hygrometer :: Wind : ?
Ans X 1. Ammeter
X 2. Barometer
X 3. Odometer
Question Type : MCQ
Question 1D : 630680507890
Option 11D : 6306801984858
Option 2 1D : 6306801984857
Option 3 1D : 6306801984859
Option 4 1D : 6306801984860
Status : Answered
Chosen Option : 1
Marks : 0




Q.92 Choose the option which are antonyms (opposite of) the word used in the sentence

given below:

Marie Antoinette, the elegant but exceedingly impractical queen, seemed uncaring

about her subjects' misery.

Ans X 1.uncaring/ ruthless

X 2. impractical/useless

4
X 4. elegant/ graceful

Question Type :
: 630680507870
: 6306801984779
Option 21D :
Option 31D :
Option 4 1D :
Status :
Chosen Option :
Marks :

Question ID
Option 1 ID

Mca

6306801984778
6306801984780
6306801984777
Answered

3

2

Q.93 In the following conversation, identify the antonym (opposite) of the bracketed word:

Person A = Isn't the weather today extremely (sweltering)?
Person B= Yeah, | think it really is.

Ans X 1.sunny
v,
X 3.pleasant
X 4. scorching

O
;\\O

(@)
N
N

Question Type :
1 630680507869

Question ID

Option 11D :
Option 2 1D :
Option 31D :
1 6306801984773

Status :
Chosen Option :

Marks :

Option 4 1D

mca

6306801984776
6306801984775
6306801984774

Answered
1
0




Q.94 it vevitan g e e
arafel 5Y @l

Y
X 2. wsar Ao Sl 3 2 s,
X 3. arée e § draeyda ardeg .
X 4. Ter s @ I g,

Question 1D

-

Question Type :
: 630680507877
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

mca

6306801984806
6306801984807
6306801984805
6306801984808
Answered

1

2

Q.95 Anuj says, "My wife is the sister of Raj's father." How is Anuj's wife related to Raj?
Ans '

X 2. Wife

X 3. Sister

X 4. Daughter's daughter

3\}(\ Question ID

D Option 11D :
: 6306801984849

N
o Option 2 1D

Option 4 ID

Question Type :
: 630680507888

Option 31D :
: 6306801984852
Status :
Chosen Option :
Marks :

Mca

6306801984850

6306801984851

Answered

3
0

Q.96 In a certain code language, if FLOWER is coded as EKNVDQ, BIRDS is coded as
AHQCR, then what will SPRING be coded as?

Ans X 1. ORQHMF
o 2. ROQHS
X 3. ROQHFM
X 4. ROHQMF

Question ID

Question Type :
: 630680507887
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

Mca

6306801984847
6306801984846
6306801984845
6306801984848
Answered

3

0




Q.97 Choose the option which are antonyms (opposite of) the word used in the sentence

given below:

Many great inventions are initially greeted with ridicule and disbelief. The invention of
the airplane was no exception. The idea of flying an aircraft was repulsive to some

people
Ans X 1_exception/ anomaly
X 2_ridicule/ laughter
«-’ a2ouisive! attractive
X 4 disbelief! scepticism

Question Type :
Question 1D :
Option 11D :
: 6306801984785
Option 31D :
Option 4 1D :
Status :

Chosen Option :

Marks :

Option 2 ID

Mca
630680507872
6306801984787

6306801984788
6306801984786
Answered

3

2

Q.98 s aryg waaroT 2023 HUTET AETA b M2

Ans X 1. gem R
@2
X 3. @g® .\00
X 4. TR 3\}(\

Question Type :
1 630680507880
Option 11D :
Option 21D :
Option 3 1D :
: 6306801984819
Status :
52

Question 1D

Option 4 ID

Chosen Option

Marks :

mca

6306801984818
6306801984820
6306801984817

Answered

2




Q.99 Fila aregie SeaEES fa2vr iwar.
“HEAT TR WIST Gerdr dard.’

Ans X 1w
X 2. qean
X 3.7
W

\

Question Type :
: 630680507876

Question 1D

Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
Marks :

mca

6306801984801
6306801984802
6306801984803
6306801984804
Answered

4

2

Q.100 Two statements are given, followed by two conclusions numbered |, and Il. Assuming
the statements to be true, even if they seem to be at variance with commonly known

facts, decide which of the conclusions logically follow(s) from the statements.

Statements:
I. All dogs are cats.
Il. All cats are cows.

Conclusions:
l. Some cows are cats.
Il. All dogs are not cows.

Ans ity conclusion | fol
X 2. Neither conclusion | nor |l follows
X 3. Both conclusions 1 and I follow

X 4. Only conclusion Il follows

Question Type :
Question 1D :
: 6306801984853

Option 11D

Option 21D :
1 6306801984855

Option 3 1D

Option 4 1D :
Status :

Chosen Option :
Marks :

Mca
630680507889

6306801984856

6306801984854
Answered

4

0
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